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'it.1;-1.ll;. � .:l-lljtjT�l<.fi �� t"', � � Wlf!lT 1. 
���3llt/T? 

(1) 6<•rlfif� �

(2) �

(3) �amm:r

(4) 31c!U, 4chcifa 3W. 4<.ficfil2.1

���l <hlf?<l<.fil "q�1fm�?

(1) �
(2) �

(3) �
(4) �

�����cfil��"5lcfjT{cfil"ITTffi%?

<1> m�

(2) m�

(3) ��

(4) Bl�11fql1(1 �

� Hl cfiT �'If� "ID21' �q cfl.tT �fucf cRiTT
%? 

(1) 
(2) 

DNA c;1 fu1,:sct) 3fWfci t I 

�mmt1 

(3) DNA Slfct$ci1ll1 tr[ WI% I

(4) DNA � ffl -if � t I

f1i.if<i1f@a rf � ffl lfct cf>l�l<.fildTI tliT � mor �?

(1) �

(2) �Wcfi
(3) � cfi1Uflc1qi

(4) <.fi"l1T

,l;m-tr��� �11id{OI ��lWlcfil� 
�: 
(1) � ➔� cllfo<.filtZ➔�➔f.im: � ➔

�-�cflWTT➔�

(2) �➔��➔�➔"Wf; i:llfu<.filit➔
'11�-� crrfu;ft ➔ �

(3) � ➔ Wf) i:llf1:FfiTtt �·� -t -'@hl�llf ➔
�-��➔�

(4) � ➔ Wfi qlfoifil� ➔ � '1IB ➔ l{ilcllfu'il
➔�

2. 

3 

,4. 

® 

•
The final proof for DNA as the genetic material came 
from the experiments of: 

(1) Hargobind Khorana
..J:11' Griffith 

(3) Hershey and Chase
(4) Avery, Mcleod and McCarty

Spliceosomes are not found in cells of: 

(1) Bacteria 

(2) Plants

(3) fungi 

(4) Animals

The pivot joint between atlas a11d axis is a type ()f: 
{1) saddle joi11t 

(2) fibrous joint
.-(3) ca rtilagmous jouv

(4) synovialjoint

The association of histont: Hl witl1 a nucleosome 
indicates: 

(1) ·n1e DNA double helix is exposed.

(2) Transcription is occurrin�

(3) DNA replication is occuui.ng.

(4) The DNA is condensed into a Chromatin
Fibre.

Which of the following is made up of dead cells 7 

(1) Phloem

(2) Xylem parenchyma

(3) Collenchyma
(4) Phellem

Select the correct route for the passage of sperms in 
male frogs: 

(1) Testes ➔ Vasa efferentia ➔ Kidney ➔
Bidder's canal ➔ Urinogenital duct➔
Cloaca

___B), Testes ➔ Bidder's canal➔ Kidney-4 Vasa 
e.fferentia ➔ Urinogenital duct➔ Cloaeo 

(3) Testes ➔ Vasa efferentia ➔ Kidney ➔
S1:minal Vesicle ➔ Urinogenital duct -t
Ooaca

(4) Testes➔ Vasa e:fferentia ➔ Bidder's canal
➔ Ureter➔ Cloaca
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Adult human RBCs are enucfoate. Which of the 
following statement(s) is/ are most appropriate 
explanation for this feature? 

7. � 1:ir,,cFiT RBC s:Si ch �<hl � � I f.r9 -q 'cfit;nrrro
��e1a_:rurctl'����/�f?

8. 

9. 

10. 

11. 

u. 

(a) � � � q,1 �li:i�llch\11 ffi i I

(b) � � <hlfochl� � I

(c) � 3919'94 ,fITT � I

(d) � m � �· 311¾1"11 � �
��i,

fct c:fi e,:q : 

(1) (b)�(c)
(2) �(d)
(3) �(a)
(4) (a), (c)�(d)

�3#-q ��ii. Bl-I� 14 "11 fcR:l" ]cfiTOfll:q fcfizt -m
.....-.--:+ ,.,. ? �Cfl�i. 

c1) fen� l,1-,Jl@lll'��ari�wmmu 

<2) � m ,ttf * � trzrari * wm mu 

(3) lJ:cl, W � * �� "9ll3TI * "Wm �I

(4) ��*�ari*wmw

(1) atsr\fm

(2) �R��m?.J

(3) ar:ilchl�lcli fcfs

(4) -cf@q;-m

�I �3TI�f�f��: 

(1) �11T2R�*RNA 311!1�t1

(2) lIT2R � * m?.J DNA 311!1 ffl f I

(3) �m'fr.:r�*DNA��� I

( 4) miR" 3WROT � m?.J RN A � mif f I

�;aw:m,-q��"cf,RUl���"ITTTJT? 
{1) ADH 
(2) W.,, (Renin)
(3) � �f?g'l.fc:cti �
(4) �(:'<S1Ru1

Rcim�tfil��$mt? 

(1) PW<IJJ7$<7

(2) �

(3) c/t(',i:(Jcffl

(4) 'ljfflfflcfff

(a) They do not need to reproduce
(b) They are somatic cells
(c) TI1ey do not metabolize
( d) All their internal space is available for oxygen

tran<rport
Options: 
(1) (b) and (c)
(2) OnJy(d)
(3) Only (a)
(4) (a), (c) and (d)

8. Homozygous purelines in cattle can be obtained
by:
(1) mating of individuals of different species.

� mating of related individuals of same breed. 
(3) mating of unrelated inctividuals of same

breed
(4) matingof inctividuals of different breed.

Y- A temporary endocrine gland in the human body
is:
(1) Corpus aUatum

j3Y Pineal gland 
(3) Corpus cardiacum
(4) Corpus luteum

10. Viroids differ from viruses in having: 
(1) RN A molecules without-protein coat
(2) DNA molecules with protein coat
(3) DNA molecules without protein coat
(4) RNA molecules with protein coat

JV 
A decrease in blood pressure/ volume will not cause
the rele¥e of: 
(1) ADH
_g}/ Renin
(3) Atrial Natriuretic Factor
(4) Aldosterone

11/ An example of colonial alga is :
(1) Sµirogyra
(2) Chlorelln
(3) Vulvox

� Wnthrix 
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13. � � w::t q@ 'IWl cfft (c-4k·4cfi � <F-l'T t?

14. 

15. 

(1) �

(2) �
(3) .;fl�

(4) �

f.;t;J���mu���m���� 
iWffift? 

( l) 

(2) 

(3) 

(4) 

fli:f,<141$� tlvmifl = -q;� 

qif/iM<R.< t!ftr?:r{: siRlJ'tfclcfi 

??7f/.iJ�<R.Jfiqq : � � 

�.{jifj1z.,z1q �: Q,l-tlflcfi � 

��-1-itfuir�. 1.fR�WU<fiT�WT� 
(�q-n) �m�����ffl�cfil 
"ifT.f,�I 

�-IT «M-1 

( a) tfi lfcti (i) I ITV
(b) fldfihfoH-1 (ii) �311

(c) �1� (iii ) �

(d) AIDS (iv) � �Mffi41

�
�: 

(I) 
(2) 
(3) 
(4) 

(a) (b) (c) (d) 
(iv) (iii) (ii) (i)
(ii) (u.i) (iv ) (i)
(iii) (iv) (i) (ii) 
(iv) (ii) (iij) (i)

16. �ij �;j\!.{(;I � <i,1r.llcfi13TI1;!U �malt
��f:

17. 

(]) '0"11cfil�4(1 <i,l�lcfil

(2) -�

('.') � 
(4) cf>1Q;fl�1�2

f-<c:ifo1f©� 1·hr � t° "<t� � �� "tR Ttscl mu 3"flf.t 
"..11:flTTTTi���7fl{J �? 

(I) � � � '-It �:jif-cld

(2) c-n - �1 ��

(3, (G'q,ilq - m2R-i "lfT m� 

(4) � - �"l!T�Ti

y The morphologicc.\1 nature of the edible part c
coconut 1s: 
(1) Pericarp
(2) Perisperm
<1) Cotyledon

Endosperm 

� ·which of the following is correctly matched for th 
product produced by them? 

(1) 

ft 
(3) 
(4) 

Snccliromyces ct!rei,isiae : Elhanol 
J\C't'tobactt1 nee ti: Antibiotics 
Methm10/1actt-1111111 : Lactic acid 
Pemcilli1111111ottlt11111: Acetic acid 

AVfatch the following sexually transmitte 
diseases (Colwnn - I) with their causative agc1
(Colu.mn -H) and select the correct option. 

Column-) Column- ll 

(a) 

(b) 

(,) 
(d) 

Gonorrhea 

�

") ' 
Syphilis •-.. _, (ii)
Genital way - (iii )
AIDS v) 

Options: 

/(I) 
(2) 

(3) 

(4) 

(a) {b) (c) (d) 
(iv) (iii)

(ii) {iii)
(i i.i) (iv)

(iv) (ii)

(ii) (i)

(iv) (i)
(i) (ii)
(iij) (i)

HIV 
Neissmn 

Trepom:'11111 
Human 
Papilloma - Vin 

In case of poriferans, the spongocoel is lined wi 
flagellaled cells called 

1 . 

(1) i:nesenchymal cells
oslin

(�) osr.u la 

(4) d1oanocytf'�

Amon� the fo!lowmg characters, which one w 
not consideJ'ed by M!.!ndel in hi., �xreriments 
pe-i? 

(I) Pud - Inflated or Con,;tncted
(2) Stem - Tall or Dwarf

_ 121}" Trichomes - Glandular or non-glandular 

('-1) Seed - Green or YeHow 



18. aio:� ��ii f.it.=tfe1forn ii l'R'ffi � � :

19. 

20. 

21. 

22. 

23. 

(1) � 3IBRf re11111gcfu f'Lffif cf@�� ma i
(2) �- 4,1c:ff1cfi � � m � �
(3) ���mt

(4) ��3Tit����il��
't

DNA \:lfa<f,ffill1 � � dflcfil�ii:f>l � � � 
t? 

(1) 

(2) 

�mrr&�� 4!<'9•1141 �'-nl 

����3TW1�<lil 

(3) � mrr& cfi1 � 9!<'9•1141 � '-nT

(4) �mTIBil\i:ft3{WT�<fil

4,c:F-hl{<ii � � �?

(1) B ?I q cf, I Rd I

(2) qiq cf, (l 'tR

(3) ��f(1-ii1

(4) l,l@-ffif<@

R9 ii m m RNA mun cf,'1�14,1 -q � ii mr
�? 
(1) mi-RNA

(2) r-RNA
(3) t-RNA
(4) m-RNA

�ii� il �. �mm �11� 311"{ 
�1cfi{Oj cfi1 "5ffificn "cfiT � � � t?

(1) 9!<i4d(',!l�1 �

(2) �@!'ell\$ �

(3) ��

(4) �ql,ls:f,401

R'-1f(1f@t1 iii\ <hT-1 ffl' "ffiit � -;;ftfcJo i:f>1l�icfil4 t', 
� � � cf>lF.<141, m � mm, � � am
�3TI ii {) 1 I "11 <'h � 3fu: fir:rr o-1Taj"11 � -;;ftfcJo W 
�t'? 

(1) �

(2) �

(3) t<t..;s1-z:fJ�r�

(4) Ljj�cf{l�f;;ql

@) 
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Identify the wrong statement in context of 
heartwood: 

/6. 

(1) It comprises dead elements with highly
li.gn:ified walls

(2) Organic compow1ds are deposited in il

(3) It is highly durable

(4) Il conducts water and minerals efficiently

During DNA replication, Okazaki fragments are 
used to elongate: 

The lagging strand away from the replication 
fork. 

(2) The leading strand towards replication fork.

(3) The lagging strand towards replication fork.

(4) The leading strand away from replication 
fork. 

Mycorrh.izae are the example of: 

(1) Mutualism

_J;l) Fungistasis 

(3) Amensalism

(➔) Antibiosis

21. Whkh of U1e foUowing RNAs should be most
abundant in animal cell?

�mi-RNA 

(2) r-RNA

(3) t-RNA

(4) m-RNA

The process of separation and pruification of 
expressed protein before mar�eting is called 

� Postproduction processing 

(2) Upstream processing

(3) Downstream processing

(4) Bioprocessing

� Which among the follo,,ing are the smallest living 
cells, known without a definite cell wall, pathogenic 
to plants as well as animals and can survive without 
o:-.ygen? 

(1) No.-toc---
-12) Bncil/11&./ 

(3) Pse11domo11ns

(4) Mycoplasma
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24. f.f9-q � m � �c:Rlft1.1(.1 � <f>T � qft
fclfi<it<.111 �cnUITt°?

(1) •�1$c6l&ifcti:ffi

(2) fflFfiTf�

(3) iji�qilll �

(4) ��

25. Vcfirn (-i�tlflu( cb1 c{ q;r �•<TTfc«f �er@��
�ii R8f�fo1a ii"B�m���t?

26. 

(1) VfR:{���tf-;m, "3'ul�1:fR
��CO2� til�4.sfl -q � � �
t

(2) CO2�if,-���'i°l"{r_zf
��10%�mill%

(3) c:119,4:Si.'111.1 CO2 cf>1 � 0.05% ocii � 1t
�CO2 �<8 G\��i

(4) c, � � � cfi1 gfc1f�<-11 if � s3TI
m, fi�c,J(IOI � ��C

-1 
���

� orqt{fi 3'.fq� � cfitfmoi %

f.19�mm�w-,w:ft����� 

���i? 

(1) �- Q.ll1$8-ii, f?fctt1"1.i11, S1l<h1�1<¾l7�<ilg-it

(2) Q,141$�"1, �. f�M1"1;.i1, "tf.R (Rennin)

(3) l!,141�('\Ji, �. f?fb.l11;,i1, �

(4) �. Q.ll1$ci'1!, �. W-=A (Rennin)

21. � � *,q -q � m '<h2R afuo t-?

(1) ?IC'l"i(('lll$1-l = tt6ll'."11$G + W-cf;Rqi

(2) l!,4.,l(l"11$4 = tflc1Jll"1l$4 + 85(l"11$4

(3) ?lcti{£"11$1.l = l(Cfll0>11$4 + t1Q¼(Jtl$1-l

(4) t15Q'.;,,l$4 = Q.lfl�l$4 + ilC'11{£"11�1i

,:)/" Which of the foUowing components provides stick 
character to the bacteria I cell ? 

Jl? Glycocalyx 

(2) Cell wall

(3) Nuclear membrane

(4) Plasma membrane

With reference to factors affecting the rate c 
photosynthesis, which of the following statement 
is not correct? 

(1) Tomato is a greenhouse crop which can b
grown in CO2 - enriched dtu,osphere fo
higher yield

(2) Light saturation for CO2 fixation occurs a
10% of full sunlight

(J) Increasing atmospheric CO2 concentratiu1
up to 0.05�o can enhance CO'.? 

fixalion rate

(4) C3 plants respond to higher t�mperature·
with enhanced photosynthesis while
C4 plcrnt.., have much lown tcmperatur1
optimum

:J,/ Which of the following options best n>presents the 
enzyme composition of pancreatic Juice? 

(1) lipase, amylase, 
procarboxy peptidase 

lrypsinogen 

�2} amylase, peptidase, trypsinogen, rennin 

(3) amylase, pepsin, trypsinogen, maltase

(4) peptidase, amylase, pepsin, rennin

2_1/ vVhich one of lhe following statements is correct, 
with reference to enzymes? 

�M Holoenzyme == Coenzyme + Co-factor 

(2) Apoenzyme = Holoenzyme + Coeru.yme

(3) Holoenzyme = Apoenzyme + Coenzyme

(4) Coenzyme = Apoenzyme + Holoenzyme 

28. 'lJ'R � 31R."Q.1.�- -q 999 a.-ffiqi f _;ft 333 'Q.1:iRI � �
cfl'ffi � VliA � fuQ. � � t. 3fr: 901 i:iz wrn
�cfil�o-w"ff fc@Ttfm;;mfltfcf;-� 3ll\.V;l.�.

lf there are 999 bases in an RNA that codes for a 
protein with 333 arnino acids, and the base at 
position 901 is deleted such that the length of tl1e 
RN A becomes 998 bases, hmv 01,my (Hions will be 
altered? cITT � g93 Wcfif cITffi -m � t I 5W) �

�qzyt�?

(1) 333
(2) I

(3) 11
(-t) 3� 

(1) 333

(2) 1

(3) 11

(4) 33



29. ctff.stfR.i;fi � "rf �H°clf41(ff qi'q '5ITtq mcTT i? W-f :
(1) K <N

(2) 'r'����cWfi.arm:Rmcfli
(3) K =- N
(4) K>N

30. f.1Cifclf@a ?f t1 ffi c6t � :

31.

32. 

(1) $cJcihfl24 tJ44iJll'?l

(2) Wf={f( Q,<f,fcl•IIW-11 

(3) � l%fd111w:ft

( 4) Wk'c/R 11

� si'14Yb1 cfilll.{9cffi (APC)� tfil�lc:61 if�
fq,rnr-, � � � ll' � ifi � �li:lilllcfi 5ITir-J
il�.%¥11,rnr-m%1 "ll'R��-q APC�
i m f.i1=:ri:r � ,:;fur m1Tf ?

(1) � '!Fl3if-q· 9.14f;;i1 WTI

(2) � �,@ �

(3) � �o m �

(4} ���,m� 

� � Tf � �'TT{ mill%?

(J) �-qrfur,f

(2) q-{�

(3) 'f:fra��

(4) cf@ �

33. � � fq� � � �P.TUT i?

(1) cml/1$°5) m�r�

(2) lll$;fl147

(3) �

{4) .IP,Jf,Rl./1 

34. �if�� "q;1 6l@{>tc!OI � � 1ITT �
�:

c1) �ifi���3,1'-q�,mmat,

c2> oqmif���m"1"@Tl1

(3) f cfi¥1Hli:1� � � ((Nfihf�Mct cAf "R m
'1fRftf1

(4) � Ti � � � t- 5ITTf 4q<1:tftcte11
m�%1 

? 

C

Asymptote in a logistic growth curve is obtained
when: 

(1) K < N

(2) 11,e value of 'r' approaches zero

(3) K = N

(4) K> N

2V Select the mismatch :

(1) Eqwsehm1

....J;l!{ P11111s 

(3) Cycas

(4.) Snlvinia

Homos porous

Dioecious

Dioecious

Heterosporous

Anaphase Promoting Complex (APC) is a protein
degradation machinery necessary for proper mitosis
of animal cells. If APC is defective in a human cell,
which of the following is expected to occur? 

jJV 

(2)

(3)

(4)

Recombi.IIBtion of cluomosome arms will
occur 

Chromosomes \,vii] not condense

ChroroosQmes will be fragmented

Chromosomes will not segregate

Which ecosystem has the max:imu01 biomass?

{1) l.ake ecosystem

(2) Forest ecosystem

(3) Grassland ecosystem

(4) Pond ecosystem

� Zygotic meiosis is characteristic of:

(I) Clda111 ydomo11as

...)zj Mflrchantia

(3) FIICIIS

(4) F1111mia

I {ypersecrehon of Growth Hormone in adults does
not cauc;e further increase in height. because: 

(1) Muscle fil->res do not grow in s12e afte.r birth.

.... f-2) Growth Hormone become:. inactive in adults.

�) Epiphyseal plates close after adolescence.

(4) Bones loose their sensitivity to Growth
Hormone in adults. 
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35. m��mn�<il'm f.lq;1{1� ����
ocli"��i1

f.rc:f�-q�fcfcRq���I 

(a)

(b)

(c) � q�n\ilf1d SfCfIB 'cflT ffl % I

(d) � tcldij;Ifcfi moll I

�:

(l) (c) lJ.cl (d)

(2) �(c)

(3) �(d)

(4) (a)�(b)

36. �/�"<hnr@Uqt!J ��wit�lrtR� 3l�'i'@
� "chRUT � m -;;rrar i 1 � � � f.HJ<ti{UJ �
� � W "5ITTR� �I 3'd<Gllll t'? 

37. 

38.

(1) cfilf4cfi1ll "5ITTR8;1l �

(2) �-"5ITTRe;lf �

(3) �-l1Rcz@"9fu{e;u �

�8�1f9lll � m � � zy:{l � 3'f'!I '&i"
t-i�€tt1u1 -q WWTT � cfiRUT ma i I�� 'cflT �
�I 

(1) WI i:fil�lcfil � Tffif/ir;:J � �- 4R4101(c¼-lcfi
WWTT�"chR1JJffl%I 

(2) <!Fil' 1"ffifiR 1@"ffi {i�(.1tjU( i:fi1 !lUlltiich � �
�mai1 

(3) ey;ff � � fi�ftt!UI � qf<i-11ut1ci-lcfi ffe
'&i" "chRUT ma t I 

(4) �€1Wf9lll � 3i1!I * q;-i:, ti·�clt!OI �cfiT{Ol
ml1 

�lilchTg2, � � � cfir-T-1-ll 9f5ci:('l"i fctF.<11:c.�11 qft
��%? 

(l) f.r-n � � 'i:fi1' '!HAT

(2) �&3{"'!1 � � 

(3) 3l���
�

(4) � r�s::.':lc@ m

35 . ./Frog's heart when taken out ot the body continu•
/ to beat for sometime. 

3. 

Select the best option from the following statement

(a) Frog is a -poikifotherm.

(b) Prag does not have an) coronary circulatio

(c) Heart is "myogenic" in natme.

(d) Heart is autoexcitable.

Options:

cJJY (c) and (d)

(2) Only (c)

(3) Only (d)

(4) (a) and (b)

Transplantation of tissues/ organs fails often dt
to non-acceptance by the patient's body. \ Vhid1 tyJ 
of immune-response is responsible for su(
rejections? 

(]) Physiological immunt• response

/4 Autoimmune respcmse

(3) Cell - mediated immune response

(4) Hormonalimmuneresponse

Thalassemia and sickle cell anemia are caused dl
to a problem in globin molecule synthesis. Sele
the correct statement. 

(1) Sickle cell anemia is due to a guantitati\
problem of globin molecules, 

(2) Both are due to a qualitative defect in glob
chain synthesis. 

(3) Both are due to a quantitative defectin glob
chain synthesis. 

(4) Thalassemia is due to less synthesis of glob
molecules. 

W An important characte1·ist:ic that Hemkhorda!I
share witJ, Chordates is· 

(1) pharyi" without gtll slits

(2) absence of notochord

-{3) ventral tu bu.la r nerve cord

(4) pharynx with gill slits



39. f,f.i&il1�����t?

40. 

41.

(1) &ll�d�'511

(2) " n3Hl�d<t(i;,, 

(3) �

(4) cpqi:fi

f1t:.1fclfoh1 if � m � c:A�ti;fii•I "Q;.ittft. ffl �
� cfil�(:l��c "B � f,cf>lct.f � furo; d\"l(cM1 �1nl
t? 

(1) �;1q;fu(i;fil

(2) {1lHcfiil./

(3) (l�Jl«i q

(4) (:Rdciqcfi

�� "B 'ft� ffl, � �"R ma� , �acrdcf,
f.1 =� � � '1ft � f��FfiRl1T "B "'I°@: -::rm n+t, � a ?
(1) f.f:� wf� 3W«B
(2) �3W«R

(3) 3".@:��3-lltRR

(4) �aw@";;

42. f.l 1-1f 1Hforn if "B � lifsc-r<ift � �?

c1) rem

43. 

(2) 4�cfi �

(3) mm

(4) 41ctlf!2b{i�,$

<l �. � atsmrr if��� t 3iR if�­
� if� & t, tllttf..qd: �&RT�W-ct
f? 

(1) il'PIIC::�

(2) �

(3) 1:f� 

(4) c!l�

44. qc:liJWtf R 3fR �� � mr. �: %it % ?

(1) � %1fi!kfct,1. &l2fu@r,l

(2) �!!f1Jtacfil, %T1h1l;q

(3) fu:1fo1al-�. � fi;!Jfn1<1<h1

(4) �lJ@ fG!lful11q,1. WJP1TITT'.'.l

@:i Doublefertilization in exhibited b) :

(1) Angiospemis

(2) Gymnospenns

(3) Algae

(4) Fungi

C 

--..:!Y Which of the following cell organelles is responsible
for extracting energy from carbohydrates to fom1
ATP?

(1) Mitochondrion

(2) Lysosome

(�) Ribosome

� Chloroplast

� Llmgs are made up of air-filled sacs, the alveoli. They 
do not coJJapse even after forceful expiration,
because \1f:

(1) Expiratory Reserve Vol Lune

� Residual Volume

(3) lnspiratory Reserve Volume

(4) 'fidal Volume

� Which of the following are not polymeric ?

(1) Lipids

J'A' Nucleic acids

(�) Proteins

(4) Polysaccharides

Flowers which have single ovule in the ovary and
are packed into inflorescence are usually pollinated
by:

(1) Bat

(2) Water

(3) Bee

� Wind

� Life cycle of Ectocorpu,; a11d F11rn::. respechvel)
are: 

(1) I Japlodiplontic, Haplontic

(:!) Haplontic, Diplontic

(3) Diplontic, Haplodiplontk

(·1) llaplodiplontic, Dip Ion lie
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45. � �«l"U ii oqc1f('lla � c!ft � ��
���ffi���-ifr�%?

(1) fflWjq-'f

(2) dWlc:fiflG(�TlJ WWll

(3) d&llc:fiR.isl�Tl! qf{[ q-'f

(4) ��

e,/ Presence of plants arranged into well defined vertical
layers depending on their height can be seen best 
in: 

(1) TemperateForest

(2) Tropical Savannah

..,,,¢J Tropical Rain Forest 

(4) Grassland

46. f1Yflf!f@a ii� � lhlM$1Tci 41$�2 (lft.�.-fr.)
'Q;cfi�C02 �%?

6. Phosphoenol pyruva te (PEP) is the primary CO2
acceptor in.:

47. 

48. 

49. 

(1) C3 3ll't C4 "yRq

(2) c
3

llTctl' 

(3) C4 -qrc;q

(4) C2 �

(1) C3 and C
4 plants

�� C3 plants 

(3) C
.i, plants 

(4) C2 plants 

�� %iliR�-am����"4'\ 47.,,; Goodv:isiondepends on adequatejntake of carotene-
R'IF cf>"«fi t I V rich food. 

R14 ii Bcrffoa �cpl�� I

(,t) � "B fc121fi.i1 A "Zf>� ��I 

(b) 9c:fii�li::i0lcfi � � cffi F�fcffic:fil �if�
g1i.�t,

(c) � fc121fi-H A efiT � 't I

(d) 'mw "B'TT � Slc:fil�j9Ulcf>i cpl "Slcfim � 
'IWT %1

�= 
(1) (b), (c)�(d) 

(2) (a)-q:ci (b)

(3) (a), (c)�(d)

(4) ( a)-q:ci ( c)

HL-if(flfoia ii "B� m 3lqf¥--l � �� � PWff 
� n�Jcf,Tq1. 

(1) 1870 -1877
(2) 1856 - 1863
(3) 1840 - 1850

(4) 1857 - 1869

��: 

(1) 1/$-iJl#Jql-(

(2) �

(3) <ish-41?J<HI/

(4) �

(!_(."QiiQ,:%1 

� 
cfic.lc:fi'i'1 

'11$?1"11 �1•:fl'+.!Jc:/, 

Select th� best option from the following statements. 

(a) Vitan,in A derivatives are formed from
carotene.

(b) The pholopigments are embedded in the
membrane discs of the inner segment

(c) Retinal is a derivative of Vitamin A.

(ct) Retinal is a Hght absorbing part of aJJ the 
visual photopi.gments. 

Options: 

(1) (b), (c) and (d)

(2) (a) and (b)

_BY (a), (c) and (d) 

(4) (a) a11d (c)

y Whkh one from those given below is the period for 
Mendel's hybridization experiments? 

(1) 1870 -1877

� 1856 -1863 

(3) 1840 - 1850

(4) 1857 -1869 

� Select the mismatch: 

(I) R.ILLwl>iu111 Alfalfa 

-d) Frrwkrn Al1111s 

e,) Rltodosphil l 11111 Mycorrhiza 

(-l) A11,nbaenn Nib·ogen fixei 
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50. f!Ailtcfi atll: 41Rd'lf6!i:fi � � � � % ? � Attractants and rewards areteqtrired for: 

(1) 313;:;:il�q{ll1a1

(2) c019<PIDI

(3) cf,1?:-"QWTUT

(4) "11:"19{1'101

51. ����T{Wf,TUJ3llcfil"1l&ff��t.
� � � qft- cfi't, m acfi'11cfi � wft?

52. 

53. 

(1) a:io:<6l�lc:filll �f.rPJtJUT

(2) a:{ii;Tf�'fell1ic1(DI

(3) 

(4) 

� ��lf!1�2ltz�fJ4.lcfi q,�1fq<-11 � � � 

� cft4<4'el1 

�Tfcf,T,,� �1q1P1lfi<nT��t? 

(1) ?WTR, "$f, TI@

(2) TilB, sk1frh1, m

(3) -sT1:1fi:f11, �. ?Tf'iR

(4) $, -sTlf!Fh1, �

� &ili:Ja ... ,'111 "91c;tf "q cfi14:tn(1 �<ifl;jj1� t1 <ill, fqcfif@ 
men t? 

{l) 'l_Ur 

(2) �

(3) �

(4) 'l_Ur-�

54. � "U1f fcfi"B � � fqcfifBd ma�?

55. 

(1) � fff�lldl

(2) qftqcfc11

(3) <)Ei'fcfi{OI

(4) 1@7TftT

Q.chR-i111>Jf'lTT � � f-1c:ifaf@a � fcf;;, � "i:hl �

f? 

(1) 

(2) 

(3) 

(4) 

� ' � .:fl:!4-lit"ll 'tffi7T1Jf 3TT< q<f➔ i:FI

�1,4-1 am q:i.f1�i11 

�11'11 3IT-1. .fi"lldg&ft tfWTUT 

fl"1lc13,i:Xi1 "CfUTJ1lT atll: YU➔�-.:l1 

5 
Cleistogamy

Anemophily

(3) Entomophily

(4) Hydroph.ily

In case of a couple where the male is having a very 
low sperm count, which technique-will be suitable 
for fertilisation? 

� Intracytoplasmic sperminjection 

(2) Intrauterine transfer

,:;}) 
(4) 

Gamete intracytoplasmic fallopian transfer

Artificial Insemination

Which among these is the correct combination of 
aqua tic mammals? 

(1) TnJgon, Whales, Seals

(2) Seals, Dolphins, Sharks

(3) Dolphins, Seals, TnJgo11

(4) Whales, Dolphins, Seals

Functional megaspore in an angiosperm develops 
into: 

(1) Embryo

(2) Ovule

(3) Endosperm

(4) Embryo sac

54. Root hairs develop from the region of:

{l) Meristematic activity

(2) Maturation

v@( Elongation 

(4) Rootcap

� A ct ioecious flowering plant prevents both : 

(1) Cleistogamy and xenogamy

(2) Autogamy and xenogamy

(3) Autogamy and geitonogamy

(4) Geitonogamy and xenogamy
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56. 

57. 

<ffia f.ic:Umcfil mu� <ffia-q �'kR � � 3TffiT % 7 § 
(1) 3TISl

(2) �

(3) �

(4) �

The hepatic portal vein drains blood to liver from: 

(1) Intestine

a} Heart

(3) Stomach

.)4) Kidneys 

� �yacfio1 � t' � � � 1f\ 'tt:'Q3.l:l;. 
� 'q,1 <Tfu % � � � liHc;o:s ITTTTT 7 

� What is-the criterion for DNA fragments movement 
on agarose gel during gel electropl10resis? 

(1) 5\i0I1<'4cti on�fmngu-g TffifqR � �

(2) 3N�� � aw:rrq col '©"trg, �� �sif@Tt

(3) �83Tifo��cnl19Us,o{q���
%

(4) � � � 3N� � t' AA 11t
"1Tffi t

(1) Negatively charged fragments do not move

(2) The larger the fragment size, the farther it
moves

(3) TI1e smaller the fragment size, the farther it
moves

....-{4f Positively charged fragments move to farther 
end 

58. f.r9if��<lil'll'll'T�%7
)5&." Whid1 of the following represents order of 'Horse'? 

59. 

60. 

(1) �

(2) �
(3) qfh-?,�cRJ�fil

(4) �

��%�if���Tl'ffift?

(1) � � Q.fofta � (Q.feflci CoA) cl>
4I��f<'l<ti � %W2l'Wf'R � ��t �

� � � � t

(2) 'TT{ � ir· nT-f �311· 'tR NAO+ cnT
NADH+H+ �-1,;:flcfi(O! maJ i

(3) ��if��1l"{FAO+ cnlFADH2 if
-1,11 cfi{UJ ITTfil %

(4) B¾lf.R1 CoA � Bcffilf.iq; 3R, if� t°
�GTP%��cnT-l-i�8"lo1 �%

an� �t:1 � qfffi ,wn ch1 W-0 cfiB �� fcf,,:n 7T<IT 
� <RUT <1<1rc:wrr % ? 

(1) �IGlctill<ti �oUc;��,m '1f1ti&.11 if
� � 7TI<n c@ f\!l 141 cfi {OJ cfi'{Qf t I

(2) �14lchl{cfi q{1l'f �� "11B@I if���
<lil�IGlcfi(OI cfi«!T%1

(3) R�ll<'4cfi cf{UT � � 'Ra;TUT -qfl:Zf ch1 � �
if��%,

(4) � � � -i!·Hi&ll ch1 � if m�

cfi«fT t � a.if�� qfffi � 3A �
� cITffil

(1) Ferus

.,_.{:}.f Equidae 

(3) Perissodactyla

(4) Caballus

Which statement is wrong for Krebs' cycle? 

(1) The cycle starts with condensation of acetyl
group (acetyl CoA) with pymvic acid to yjeld
citric acid

(2) There are three points in the cycle where
NAO+ is reduced toNADH+H+

(3) There is one point in the cycle where FAD+
is reduced to F ADH2

�During conver sion of succinyl CoA to 
succinic acid, a molecule of GTP is 
synthesised 

Artificial selection to obtain cows yielding higher 
milk output represents: 

(1) stabilizing followed by disruptive as it
stabilizes the population to produce higher
yielding cows.

(2) stabilizing selection as it stabilizes this
character in the population.

(3) directional as it pushes the mean of the
character in one direction.

(4) disruptive as it splii:s the population into two.,
one yielding higher output and the other
lower output.
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61. 

62. 

63. 

64. 

�cl Gsa �-Rf � cfiT � 'IWI, \lfl � � -i:f �&Rf � TI1e region of Biosphere _Res�e which is legally 

t afu � � qil' fcfim \ft 1lfilfcTT"t.T cfi1 � � protected and where no humau activity is allowed 

mm, � cfllT cfiti(illdl �? 
is known as : 

(1) "Tf:� �
(1) Restoration zone 

(2) Core zone
(2) m�

(3) 

( 4) � $1
aT�� fi1<-?i % mm� � 'q"{ W-Rr ffl �?

(1) � f��fq:cfi � if

(2) ftt�f«-cfi amrn ci>'T f$fct1�1 #

(3) ,l_cf-fo�fq:cfi � -i:f

(4) <IDfcfilaJ % fun 'q"{

� V:"ll .fil41-4d: � � �?

(1) �

(2) "cfilTf�

(3) ��

(4) fua, l!cfi �

v:cn�c.fff��<m� 41dWcli �ffl�TTlll I 
��'RT� -q"{ � ftjfctifficfi � � � � % .fu::f 
� � I � ili ·cfi't;n) � � �? 

(1) �

(2) �

(3) �

(4) -mi-�

_(3Y Buffer zone 

(4) Transition zone

<f51: Receptor sites for neurotransmitters are present on: 

(1) post-synaptic membrane

(2) membranes of synaptic vesicles

(3) pre-synaptic membrane

--{4Y tips of axons 

63. The vascular cambium normally gives rise to:

�eiidenn

(2) Phelloderm

(3) Primary phloem

(4) Secondary xylem

� A baby boy aged two years is admitted to play school 
and passes through a dental check- up. The dentist 
observed that the boy bad twenty teeth. Which teeth

were absent? 

(1) Molars

(2) Incisors

(3) Canines

� Pre-molars 

65. � � cfiT � ftlrqq �mt? The water potential of pure water is 

66. 

(l) �"B3TT�

(2) �
(3) �"B°cfi11

( 4) � � 3TT� 1fq � "B °cfi11

(1) More than one

(2) Zero

(3) Less than zero

( 4) More than zero but less than one

(1) 
\66...-----'1)NA fragments are: 

� � 3TT4'l'tJ � � � <TT ?fi011,4cfi 
.x<' 

� m � f 
., ...... \11 Either positively or negatively charged 

(2) 

(3) 

(4) 

(2) 

(3) 

(4) 

depending on their size 

Positively cllarged 

Negatively charged 

Neutral 
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67.

68. 

69.

ll-Tl�fillf-P.nQT wrr % ? 

(1) ��ar,T

(2) crquT'3flfcii:hl

(3) 3'.ffi,�

(4) ��
��'IUD'ifW3JTlAT"<h"TcF{lcfil<fmaTt?

(1) � &iiJ«-1"11 Cffi ���I

(2) it �an q,1 ,,fo:tik1ct1 f!,ci f.fffi wim <fill
�t,

(3) � g, Gi:h"l+i q,1 � i I

(4) <) � cfi1 wroT � � �j,9!{c@ ���I

� � �. � alf� {<\9Hlfla chl�l<hl q,1
�fflif �tfi«TTt� �<fim-;,nmi?

(1) fi{'i--Hlfl-l<¾ -m,

(2) c:((Ut<fl1lf �

(3) � 

(4) �l¼
-s

� Capacitation occurs in

----flj Fem.a le Reproductive ·tract
(2) Rete testis
(3) Epictidymis
(4) Vas deferens

The function of copper ions -in copper releasing
IUD's is: 

(l) They inhibit ovulation.

(2) They suppress sperm motility and fertilising
capacity of sperms.

(3) They inhibit gametogenesis.
� They make uterus unsuitable for

implantation. 

6� gene whose expression helps to ident ify
transformed cell is known as 

(1) Structural gene

(2) Selectable marker

(3) Vector

Jc4.1' Plasmid 

70. ���if, f.ii-:iR-tf@a q� mm�l=!R' ® Which one of the following statements is not valid
for aerosols ? 

�l? 

{l) it� � -q{ i1i:hl(lfl-lcfi �'iflq � i

(2) � i:rr-fq � � � t\lH<h1% �

(3) it cfl1f am� q,1 � cn1 qftqfJa � %

(4) ��� dc<lli;i:h<ll if�mm%

71. �iffflm��t?

(1) ™"tl'm<l,1������
�%I 

(2) � 1ml cfl1 � � �� � 6l91<11Rt � I

(3) re "CfM cfl1 � � u@ � � '3lql(IJR.J
t, 

(4) rn1m1cm3lrom'!l"fTuTR��llR1Mt,

n. f.:Ii-:ifaf@a if � m c1foaqa � if � �
arm' cfi1 R<t>l(1ctl �?

(1) .a:rm�

(2) ��

(3) fGalllch �

(4) ]T��

(1) They have negative impact on agriotltural
land 

(2) They are harmful to human health
(3) They alter rainfall and monsoon patterns

(4) They cause increased agricultural
productivity 

Which of the following statements is cottect?

(1) The descending llinb of loop of Henle is
penneable to eJectrolytes. 

(2)

(3)

The ascending limb of loop of Henle is
impermeable to water. 
The descending limb of loop of Henle is
impermeable to water. 
The ascending limb of loop of Henle is
pe1meable to water.

Which of the following in sewagetreatmentremoves
suspended solids ? 
(1) Sludge treatment
(2) Tertiary treatment

.-{3( Secondaryt:Featment

(4) Primarytreatment
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73. � � � 31Jq�lJi:h �� � GnRH � �)
1R q;i.f cfi«fl t ?

GnRH, a hypothalamic hormone, needed in
reproduction, acts on: 

74. 

76.

c1) � � m� 1R am u-1 � foAFcm1 � WcfUT
���i1 

(2) 3TIT � m� 1R 3ih: LH � 311<R.fllff{-l1 �
���cfi«IT%1

(3) 3TIT�-W�'q\3ll\LH�FSH'tfi�q;)
��%1 

(4) � � m� 1R 3ll\ �1cffftz.lffl1 � FSH �
�cffr�on«llt"I

�� � � � '9' F-!t.-tfctf©ct 4 if cFil � cfi\ill
%?

(1) � i:f,lf.�lchl3TI clil r:t,'lfillcfil-f\ffil °9' t1�ctl-il
��cfil �ut�

(2) 1;:R <h1focfi1.ju � � fl:rfu cfi1 �

(3) � cfilfoch1.m ��if cfiITT

(4)

A ' � ' 
(1) 4 -i1i1121 $q ; 4 -rrq,-+-11/\-12=1$=q

A' � ' (2) 3 ..ifi,{121$4 ; 3 q,11121�q

(3) � '3111'12,�q; 4 q,71121$9

(4) 4 ;sfl1121�q; 3 q,71"121$9

� �-1@1 cffr � m clIB °Q21"1 �'317cflNldl
� cire � f1t.-tfc1f@a 4 "ff�� i?

(1) �

(2) ��

(3) �q01'2�if�

(4) <'11i;!chl<;f'li�

77. Q.Z'l�-s\ e!R �4illR. � �� � cffeIB fcf;<rr?

(1) � � +l41cfi{OI

(2) � � �

(3) fil41i:hlfl �if,f.r:rq

(4) m��'!:f

� posterior pituitary gland and stimulates
secretion of LH and relax.in. 

(2) anterior pituitary gland and stimulates
secretion of LH and oxytocin.

(3) anterior pituitary gland and stimulates
secretion of LH and FSH. 

(4) posterior pituitary gland and stimulates
secretion of oxytocin and FSH. 

tY Which of the following facilitates opening of
stomatal aperture? 

(1) Longitudinal orientation of cellulose
microfibrils in the cell wall of guard cells 

(2) Contracbon of outer wall of guard cells

__-(8j" Decrease in turgidity of guard cells

(4) Radial ori1'Iltatiun of cellulose mkrofibrils in
the cell \vall of guard cells 

The genotypes 11f a Husband and Wife a.re IAI13and
IA· I. 

Among the blood types of their children, how many
different genotypes c\.nd phenotypes a re possible? 

(I) 4 genotypes; 4 phenotypes

(2) 3 genotypes; 3 phenotypes

(3) 3 genotypes; 4 phenotypes

(4) 4 genotypes ; 3 phenotypes

Plants which produce characteristic
pneumatophores and show vivipary belong to: 

(1) Hydrophytes

(2) Mesophytes

(3) HaJophytes

(4) Psamrn o.phytes

77. /4lexander Von Humbolt described for the first
/" time: 

$ Pop11 l,1lion Growth equation

{2) Ecological Biodiversity

(3) Lc1ws of limiting tactor

(-t) Species area relationships
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78. 

79. 

80. 

81. 

82. 

83. 

84. 

�3li if m.'tfl.�. SIFacrdli.41 tMT t: DNA replication in bacteria occurs: 

(1) �it�� (1) Just betor� transcription

(2) s�t"<m1<i \2} During S phase 

(3) ���;R'{ -0-r \\'ithrn nucleolw, 

(4) fq&O:.S1 � � (4} Pnor to fission 

MALT 11Rol � if �\l � cfiT Wl\fll � � MAL1 constitutes about percent off 

mmr mm i ?

(1) 10%
(2) 50%

(3) 20%
(4) 70%

<iil�1fc:1fwu if cnR: � �ai % ? 

(1) 1iUT

(2) �
(3) ��
(4) (frl1 

� 3ffi -qfum' ifi {-ll-Pl.tfcf � � �� � &ffi 

00 �Hfcfi<TT % ) 

(1) �C'fcF�

(2) lii$2lq,i1s1l1

(3) ��

(4) �

f.i9f"Rfum if "it <ifR 'itl"ll ffi11ITlf man ii 1Wl � t? 

(1) �ffl�

(2) am1�cfi)l�1.41

(3) 1_<ii<Rlfv�1

(4) �14-1'1&lc:RlfFII

�7:fif����t? 

( l) �11','"'f{

(2) ��

(3) �TB�

(4) ��

l�•mpho1d tissue in huma.n body.

( l) 10%

(2) 50%
(1) 20%

(4) 70%

In Blm�am\, ,Ilea thorns are the modifications o 

tl) Leaf 

A Stipules 

( �) Adventitious root 

(!) St.em 

8 h'u1t a11d le.lt drop at early stages can be prever by the 
,1ppl1cation of: 

( !) G1bbcrellic add 

{2) Cytokiruns 

(1) Etllylene

.......-(4) Auxins

2. Whkh of the following are found in extreme�
rnnd itfons 7

( L) M yc:obacteria

(2) A1cbaebact�ria

(3) Eubacteria

(4) Cyanobacteria
:, 

� Coconut fruit LS t\: 

(I) Capsule

{2) Drupe 

{':\) Berry 

..._ (4) Nut 

� � ij 'tJ?.TcfigQ. "ir.l,f"f."Q,. �� � � / 
�4 I h� DNA fragments scpardted on an agaro 

"Ej;' � � \lff "fl"'cfiill i ? · l ,m be visu;, hsed after staining with: 
(i) ef�� (l) f.tludiru11 bromide
(�) ��..(k;i � ,4 Bwnwphenol blut> 
(J) Q.�:rlitc:fill-fl1 (.�) r\cdocarmine 

(•I) -q:f.iffl4 �- ( •) tuliline blue 
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Out of 'X' �iis of ribs in humans onJy 'Y' pairs are 
true ribs. Select the option that correctly represents 
values of X and Y and provides their explanation: 

85. llRcfcfil�t°X�ll� Y� ct1«1fcf:fi 4flki<fi ®
t'i@fl ��cfiT��'1fTXl!_cfY<lft

� � cf,1 � % 3tR � fllfclcfi{OI <ii«IT � I

(1) X=24, Y=12 cll«ifclcfi 4ftfWli 1flio 'lfllT Tf
�zy; n � mm i � 
31"R '!WT if � mm i I 

(2) X=12, Y=7 cl I «1 fq cfi q fl ft.-p.ij ,po 'lfllT Tf
cfi il {,ch zy; om: 3l"R \lflT Tf 
offl�"ill2l�mcftf1 

(3) X=12, Y=S cll«1f9cfi 4ftf<:14i 'tf&:3 'IWT ll
�zy;� �t""ill2l Gl
fuu � "ill� � m-ffi f I 

(4) X=24, Y=7 cll«ifc!<h 4flfe14i 'tf&:3 'IWT ll
� · n�mmf� GS 

3lm 'IWT *�mmf1

86. 4t<lfc:H ����mm%?

(1) �� ffiU cfi"lf�lcfil(t

(2) rcf1"1 r.fi'lfoi:fil� q;c{ ¢fIT<:i•n-?>�1ftl��fl

(3) oR1 ch1fo<til � � cf;lfitlcfil�

(4) 3-fff01r1,g�1flt:R.,fl � a:tfftl�n"1<ti

87. f.:11:.:ife1f@a it n � m � � � � �
�fi�dTi<fil���t?

88. 

(1) � ➔ -.:i·� 'Cr{� ➔ !}Ol{l?!fciis cfi1
fc{'4T,lR ➔ 11� ➔ �

(2) � ➔ ��cfiT� ➔ ��
➔1I�➔�

(3) � ➔ � � cfiT � ➔ -.:i"2l um
'Cr{�➔ !}01{l?!f4s; cfiT� ➔ �
➔ 3if41cl�I

(4) �➔��➔��cfiT�
➔ 'll!.!�cfi{OI ➔ �

'(fcnm, \ill �tl1•1{l?! m� .:ilfc:11-11'1!1 �'cfiTtO'T mm t
cfi'l=rm%? 

(1) Gf;{��

(2) ��

(3) i:Ml�14it-i?J, �

(4) -�tern�

(1) X=24, Y=12 True ribs are dorsally
attached to vertebral colwno 
but are free on ventral side. 

(2) X=12, Y=7 True ribs are attached
dorsally to vertebral column 
and ventrally to the sternum. 

(3) X= 12, Y =5 True ribs are attached
dorsally to vertebral column 
and stemum on U1e two ends. 

(4) X=24, Y=7 True ribs are dorsally
attached to vertebral column 
but are free on ventral side. 

� Myelin sheath is produced by: 

(1) Osteoclast:s and Astrocytes

� Scbwann Cells and Oligodendrocytes 

(3) Astrocytes and Scbwann Cells

(4) Oligodendrocytes and Osteoclasts

/4 . Which of the following options gives the correct 
sequence of events during mitosis? 

(1) 

(2) 

(3) 

-

condensation➔ arrangement at equator➔ 
centromere division --t segregation ➔ 
telophase 

condensation --t nuclear membrane 
dlsassembly ➔ crossing over ➔ 
segregation ➔ telophase 

condensation ➔ nuclear membrane 
disassen1bly --t arrangement at equator ➔ 
centromer e division --t segregation ➔ 
telophase 

(4) condensation ➔ crossing over ➔ nuclear
membrane disassembly --t segregation ➔
telophase

88. __A-disease caused by an autosomal primary
t---' non-disjunction is :

"--(1.) • Sickle Cell Anemia 

(2) - Down's Syndrome

(3) · Klinefelter' s Syndrome

� Turner'sSyndrome 
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89. 

90. 

91. 

92. 

ctl�G>1-� cf,l cnt, m cfilfoq;:t! �2.V��1f<41:1 ...8Y.' 

t-11��1-ill�l'.i �cf;Uftf? 

Which cells of 'Cn pts of Liebcrkuhn' s.:-creb 
antibactedaJ lysozyme? 

(1) � chlfocfil�

(2) � cfil�lcfil�

(3) � ctilnii<til�

'f, 'I� .. (4) Jil�ljj "11 c:fill<tilQ_

f.,t;J * ciii1 l-icfic'.1'.i4l wift � i:nm � � maJUT 

l1001:lo t? 

(1) folilt-141 �

(2) cl-<!SllUfl "{ftfiffi-qrct

(3) $Jc1fc1fqt«TT ml m

(4) �qqf�cfl

�futrl(q;qr-ft)qi1q;-qr-ft�k%1 �ciR 
'llTrff Ti <m R<n 71<IT i � i:lklt�>�J "cfi'l � 
1 : 2 : 3 't I � cfRi \lfTTT cfiT � W'l # � 1R . , 
�"cfi'l��k'o2lfw:JRfT�-q�'l:f{ 
k" % I m, � 1-:' : k" mrTT :

(1) 1 : 14
(2) 1: 6
(3) 1 : 9
(4) 1 : 11

f111i�a � �- £15141'1@<hl<t '\TsPl1' cm� 7l!iT �, 

p 

V 
f.i11f<:1forn -q � � "cfi'l fr:rc;rR � 

�-1 �-2 

P. �) a. �

Q. �ll b. 141-lclisl}-l

R. �Ill C �'13illldf-lcfi
s. VsifiCI N d +1Yd1414
(1) P➔d, Q➔b, R➔a .3-H
(2) P ➔ a, Q-+c, R-td, s -t I, 

(3) P➔c, Q➔a, R->d �➔h
(-l) P➔c, Q�d. R➔ b, S-� d

(1) Ku pffer cells

(2) Argentaffin rt?II<,

.-f3f Paneth cells 

(4) Zymogen cellc;

o,./Which one of the following is related to Ex-sit 
conservation of threrttened animals and plants ? 

(1) Himalayan region

_ffi J Wildlife Safan parks 

(3) Biodiversity hot spots

(4) Amazon rainfori2St

� / A spring of force constant k 1s cut into l<!ngths 
rallgj :! · 3. TI,ey a ·p c,mnected in serie-; .md tJ 
nt>v. force constant,._ k' Then they are tunna--tcd 
parallel and force c mstant is k". Then k' k" is· 

ll) 1 : 14

� 1: 6 

(3) 1·9

(-t) 1 : 11 

Thermodynamic rio..:c5!>es are indicated m t 
foJlo\, ing diagram. 

p 

\' 

Mdtch the followiug · 

Column-1 Column-2 

P. Proc�sl, a Adiabahc 

Process Il �-Q f �0uari< 

R. Proces Til c., lsoci,cric 

5 Proc55£V d ls,>therm_._-tl 

(1) p ➔ d, Q-b, R->a, S-H:

(2) P-ta, Q➔r, R- ct �➔b

(�} P➔r, Q,,\ R -t d, S➔b

(4) P➔c, Q-d R ➔ b, S➔a



93. fci;m�q;)�����,if@lil %"t
�cfil�, �"B'qra�. lfl1RRsfilJTl'3Tcli�
"ITT� 3r.<l -,J1i�R1a �"-llfur �� � t I m, �

Vcfll'{� qftu11141 f.rcf1Tlfcf>l�wn�� (�
"B'"-TlITT cn1 � if)

(1) 2 :r-,T ��

(2) 4 :r-,T � �

(3) �m�

(4) cm wfl

94. � ftro 'tR � � �-� <llT -qr-ft� � "RT
Tf"llT t, � � � � tJr-fr ii Wmr -=rm cfR9T �
� � sTffi � t fq; � � 1ffi -q 1lRT � cfR �
10 mm �msiffiTTlnt.rr ��if 1TT;ft c!11 crR
�mTI\l'cfi�� 65 mm ���%1 (3l1Ug
�)msl'.{�qif�a,q;'q,cql:

Pa Pa

A __ -----------f_ __ _ -,.. 
.. ,1Qmm

B

(])
(2)
(3)

(-!)

---�-----� -�-3ffifl1 � �
6s ,nrn -

' o-···'i······ �-=- � � �

-C

928 kg m-3

650 kg m-3

425kg m-3

800kg m-3

93.

94.

C

A capacitor js charged by a bi:lttt.'ry. The battery is
removed and another identical uncharged capacitor
is co1u1t.>cted in panllel The total elcctrostallL energy
of resulting system: 

(1) increases by a factor of 2

(2) i.ncreases by a factor of-!

(3) decreases by a factor of 2

(4) remams the same

AU tube with both ends open lo the atmosphere, js
partially filled with water. Oil,\\ hicb is immiscible
with \·\'ater, is poured into one side until it stanLls at
a distance of 10 01m above the waler level on the
other side. Meanwhile the water rises by 65 mm
from it, original level (see diagram) The density of 
the oil 1s: 

Pa Pa
' 

A :j ·· ···•·-··: - ·:-10 mm 

�; 
·
:·····- :- -�Fin.ii waler le,·el

··- 65 mm -. .. , D -Oil . •·X···· :...-=- ---In.ilia! water level

(1)

(2)

(3)

(4) 

·- ' 
65mm 
- L ____ :-: ... C

928 kg m-3

6501-.g m-1

425 kg m-
·1

800 kg m-"

95. 
95._,1 The de-Bruglie wavelength of a neutron in thermal

/ equilibnum with h�,wy water al a temperature T
(Kelvin) and mass m, is: 

2h
2h {1) "mkT(1) ✓mkT

h
yJ 

h

(2) Jmkf
✓mkT

h h 

(3) (3) -�
J3mkT ,13mk1

2h 2h
(4) ✓3mkT (4) J:irnkl-: 
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96. 1i� � � � 1 km � 1:1r!IWTTT.f � cfiP:lR cfITT 96.
t'.mtJ��'lfrmd�lf{W, <TT:

The acceleration due to gravity at a height 1 km 
above the earth is the same as at a depth d below the 
surface of earth. Then : (1) d=2ktn

(2) d=-km

(3) d=l.km

(4) d=-km

� � fcl:;m "WflJ 1«, f<fim cfiUI � X cf� }/ f1��lic!fi, 
�: x=5t-2t2 a�y=10tf (�.a cJ�y�if 
am t � if t) 1 m, t=2s "Cf{ "3B � cnr � 

� -8m/s2

(2) 0
(3) 5 m/s2 

(4) -4 m/s2 

98. i%m � 3N;lufcfi �ir'11R.{ i1q$.K -if, � �
fuu�� �-�� '-\V %1 �qjl
"Sl'@U't!' 3 kn % 1 � mu:...� 100 a� aul:ITT:
m't!' 2 kn t m, '5jcf$f; cf,l" �-� c1� �­
� �-rwT �= �

(1) 20 �2000
(2) 200 am 1000
(3) 1s am 200

(4) 150 3ffi 15000

(1) d=2km

(2) d=-km
2 

(3) d=lkm

(4) d=�km

The x and y coordinates of the particle at any time 
are x = St- 2t2and y = 1 Ot respectively, where x and 
y are in meters and tin seconds. The acceleration of 

� particle at t= 2s is:
(1) -8 m/s2 

(2) 0
(3) 5 m/s2 

(4) -4 m/s2 

S. In a common emitter transistor amplifier the audio
signal voltage across the collector is 3 V. The
resistance of collector is 3 kil. !few-rent gain is 100
and the base resistance is 2 kil, the voltage and
power gain of the amplifier is:
(1) 20 and 2000

A) 200 and 1000
(3) 15 and 200
(4) 150 and 15000

99. <m'a:ifus-ifm-r'l1tiRRmtrcfi11%�m.ft�
ti �oR�� C�) ����lafR 99. An arrangement of three parallel straight wiref 

placed perpendicular to plane of paper carrying 
same crurent 'I' along the same direction is shown 
in Fig. Magnitude of force per unit length on thE 
middle wire 'B' is given by 

tl'\TT � ·r �'ttlU � m �if� mun t 1 "f-l 
���if W-IB, cITT 'B' cfi1 "5ITTf � � 'It 
� q@ � qjl -qftqrcrJ wrr 

A 

µ.oi2

(1) .Ji ,rd

(2) µoi2 

2 .. d 

? ,2
(3) 

_µ
o

•· 

1Td 

(4) ./iµoi"}. 

rod 

A 

(1) 
f-Loi2 

.Ji Trd 

(2) 
µ.o i

2 

2vd 

2µ.
() i

2 

(3) -r,d

.fi. µ.
o i

2 

(4) 
1Td 
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100. -ey � q;,- � � �ll;l "lJR �� � 100. Two astronauts are floating in gravitational free

i 3W � -ey;n· :l(i�icfitf01 fcfITT 3RITT� ft� c¥R1 � I space after having lost co11 tact with their spaceshi r.

o)c)-zyn;
The two will 

(1) � °W1 I
(1) will become stationary.

(2) keep floating at the same distance between
(2) �s"Cl.��<fil���WTTI them.

(3) l{cfi-�cfil am:Tffu� I (3) move towards each other.

(4) ��"B�� I (4) move away from each other.

101. ����B�cfi'Rl�c:fiT�a,rcn ;
0 tt 101. 

1 
A ca mot engine having an efficiency of 10 as heat

�'3ffl��f.91&t{¢.(cfil'"TTffi��%1 "'1R engine, is used as a refrigerator If the work done on 

��CRcfiflr)11"{�,r:n�101mcn, f.fi=:rmtl the system fa 10 J, the amount of energy absorbed 

"9'"{ �� �qliTifcia � cfiT llR m1TT:
from the reservoir at lower temperature is· 

(1) lO0J
(1) 100 J

(2) lJ (2) 1J

(3) 90J (3) 90J

(4) 99 J (4) 99 J

102. 250 � cf@l � .;w.frll<fil( � cfi1 � 2.1 cm
i'f� � 1.25 cm %1 �85 µ,Acfil�'tTIU

102. A 250 -Tum rectangular coil of length 2.1 cm and
,vidth 1.25 cm carries a current of 85 µA and

�m-mt1 �'R0.85T���';i�chl4 subjected to a mag.netidield of strength 0.85 T. Work
� amtft@- mf � % I ol, aIB � � � � done for rotating the coil by 180° against the torque

�-%'180° � �� � 6Mli'-lc:fi Cli]7{�"l{A is:

m= (1) 1.15 µ, J

(1) 1.15 µ,J (2) 9.1 µJ

(2) 9.1 µ,J (3) 4.55 µ. J

(3) 4.55 µ,J (4) 2.3 µ. J
(4) 2.3 µ, J

103. Which one of the following represents forward
103. f1J.-.tifcfi11 � if 'B � � 3lllf<foct, � B bias diode?

t?

(1) 3V 

[), 
R SV 

'vWV'--

(2) ov 

[), 
R -2V vvv, 

(1) 3V
[>I 

R 5V 

(2) 
ov

C>1 
R -2V

,., 
(3) 

-4V

[), 
R -3V

'WVW 

(3) 
-4V

[>j 
R -3V

(4) -2V

C>1 
R +2V'VVW' 

(4) �
+2V

104. � � cfi't a:if.wr � cl2ll � � cfi1 � 1 

�� 11{•l�&f."c:fiT 3f:itffif%:... 
(1) 0.5

(2) 2
(3) 1

(4) 4
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10s. ���-qttq�-?im,��, GT� 10s. 
m 3:th� ���,, �•Win� 

Figure show:. a circuit that cont-dins three identical 
resistors with resistance R = 9.0 .!1 each, two 
identical inductors with inductance L=2.0 mH 
each, and an ideal battery with emf€= 18 V. The 
current 'i' tlu·ough the battery just after the switch 
closed is, ..... 

1iITTRltl, R=9.0.0, �mqil�, L=2.0 mH % 
om�cnrfcf@��, e=1avt1 -m. �cn) 
�cfiB*����� mu, 'i'<nT.:JR 
mm; 

+ L R R 

'-L R L C 

(1) ��
(2) 2m.A
(3) 0 .2A
(4) 2A 

+ L R R 

'-L R L C 

(1) 0ampere

(2) 2m.A

(3) 0.2A

(4) 2A

106. � � A o� B * �. 9filffl: 3m o� m % I � 106.

3Wrn-q�i;<>'-l411611, �smu�i, ��
Two blocks A and B of masses 3m and mrespectively 
aTe connected by a massless and in�xtensible string. 
The whole system is suspended by a massless 
spring as shown in figure. The magnitudes of 
acceleration of A and B immediately after the string 
is cut, are respectively: 

� cf11, 3,ffis Ti�· � � � i;c4l-i11,foc1
fuM ( q;,:rr;:ft) &RI €1c.cfilll I TfllT % I 6TU cf1l cnTc. � *
��Aafl"{B*�*�ml1sfilro::

T 
ciJ3m

cbm 

(1) 
g 

3'3 

(2) 
g 

g, 3 

(3) 
g 

3'g 

(4) g,g

107. fclim � q R1 If cicfi I cfi1 o.m:! 0 .1 m �T�'ffll ifR * "tf;U

'cfi1 �"@TT 2X104 1f@ � f I � �� '91:
0.01m �cf?.TTIOOif;ufl���VcfiR
00%fcll�qft�e.i�%1 qf<1lk1cfilB�
� fl fcrw, i.nu �.:JR� wn � � cf>ll mar�

i am o.os s i:1 4 A� � m -mm t, "ll'R, � �
"5ITTRT"t 10 � fl t m, �ti 3RRR1 Ti � � �
� 3lfiffi1WTT:
(1) 16,. µ,C
(2) , 32 -.r µC
(3) 16 µ, C
(4) 32 µ C

(1) 
g g 
3'3 

(2) 
g g, 3

(3) 
g 
3' 

g

(4) g,g

107. A long solenojd of diameter 0.1 m has 2 x 10± turns
per meter. At the centre ofilie solen-;;ra, a �oil of

1.QQ.turns and rad ins 0.01 mis placed with its axis
coincic:ting with the solenoid axis. The current i.ri
the solenoid reduces at a constant rate to 0A from
4 A in 0.05 s. If the resistance of the coil is 10 � n,
the total charge flovving through the coil during lhis
time is:

(1) 16 ;r p.C
(2) 32" µ.C
(3) 16 µ. C
(4) 32 µ. C
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� 1� 
108. c,Gom -4- �fflffi�tj)focf,urn�� 

A physical quantity of the dimensions of length that 
e2 'ITEQ 

cfITT f -iIT � cfl1 t I (� c - "Wfim q,[ �.
G- �l&f'ile+i ��o� e 31liffii) � �

m�nrrsft:

1 e2
-G--

(1) 
c 4-rrEo 

(2) 

(3) c2 G _e_
[ 2 12 

4iiEQ] 

(4) 

109. :lcffi� (�)if,�� 'gklcf>ll! <Wrif
� � <fiT cfCT-�-T@ lWf, [rms = 6V / m i, ol
'gl4cn1ll l$I' cfiT � 1TI1 t:

(1) 4.23x 10-s T

(2) 1.41x1o-8T

(3) 2.83 x 10-8 T

(4) 0.70x10-sT

110. � m{ cfiT wait� 'R' 3Wl i I � -a"R cn1 N€1{11£!1
�iam���m{"{t'n':f{T�cfil�
m{�Kl!T�t°I �-::r-qoT{cfiTWd'UtfWTI:

R 
(1) ;i-

(2) n.R

R
(3) n

(4) 

111. � � at•i�e.41', >-1=4000 A am ;'l.2=6000 A�
@ir, Sle+il�rh1 tl_�q � fcf� � cfiT �
'%:

(1) 16: 81
(2) 8: 27

(3) 9 · 4

(4) 3: 2

can be formed out of c, G and -4 - is [c i:, velocity1TEQ 
of light, G is universal constant of gravifation and 
e is charge]: 

(1) 

(2) 

(3) 

(4) 

1 c2 
-G-­
c 4;re0 

1 [ e2 ]½
-G--

c2 41iEQ 

1 [ e2 ]½ 
? G 411e0

9. In an electromagnetic wave in free spacC' the root
mean square value of the electric field is
Enns = 6V / m. The peak value of the m�ic-freld
is :

(1) 4.23xrn-• T

(2) 1.41 X 10-8 T

-?r 2.83 X 10 -s T

(4) 0.7ox10-8 T

11 ? The resistance of a wire is 'R' ohm. lf it is melted 
and stretched to 'n' times its original length, its new 
resistance wm be 

R 
(1) ;r

�nR 

(3) 

(4) 

R 
n 

The rat io o f  resolving powers of an oetical 
microscope for hvo wavelengths >-1 =4000 A and 
>-2 = 6000 A is: �
(1) 

(2) 

(3) 

y 

16: 81 

8: 27 
9:4 
3:2 
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112. 1.42 <}jqc:1J1i<fi 2r>ffl��. ��fsl;;:qcfil �
cfilUT-10� i I � &,:q qil' 1.7 <}14<:id1i<fi � ffi "B �

� 3F1' 'tfQB &,:q 'if�� ;;mn t- I � WITTR 'if
fc1·ck11<Rrn "4ft� mto mm i I m, � � cfil
�cfi1UT��;

(1) 10"

(2) 4° 

(3) 6°

(4) go

113. � 4'18<T�:s 1\ omP2 cfil�>1"q1rn"©T��f<fi-, �
-3la.,�if�tl P11R�-3l�>fcfim
q,l" � Io i I P1 3WP

2 
��if� 3Fl 41ci<T�s

P 3 cfil � WfiR "{'©l U1Tffi t° f<fi" � ale;l P 1 cfiT 311;, 'if
45° cfilcf>ll)ToRTm"[I <TT, P

2 
�1lR1ffi�<hl� 

%: 

(1) 
16 

(2) 

(3) Io,
4 

(4) 

114. mJ<fcfW<fi�<ITTit@-irn�mfq��
?:l'?.TT� om��%, �. � fcffe.l if wi@ 
.mmt: 

. 

� �. i'11�-1.,1iflo: nm>ITTmmcfil� 

(2) � cfil �

(3) �>1cfU@T

(4) �0H14la B mu ct�-;,� q,l" wmr

115. � � cfil 1J:cfi fim �l 3TR � fim � t° I
�����cfil"��: 220Hz
om 260 Hz tm � � cfil l@ � � mtjl-?

(1) 40 Hz

(2) 10 Hz

(3) 20 Hz

(4) 30 Hz

112.

•  ° 

A thin prism having refracting angle 10 is made t 
glass of refractive index 1.42. This prism is combine 
with another thin prism of glass of refractive indc 
1.7. This combination produces dispersion withm 
deviation. The refracting angle of second pris1 
should be:  

(1) 10° 

(2) 4° 

(3) 6° 

(4) go 

113. Two Polaroids P1 and P2 are placed with their ax,
perpendicular to each other. Unpolarised light I0 
incident on P 1. A third polaroid P 3 is kept i
between P 1 and P2 such that its axis makes an angl 
45° with that ofP1. Theintensityoftransm.itted ligt 
through P2 is: 

(1) 

(2) 

(3) 

(4) 

lo 
16 

A potentiometeris an accurate and versatile devic 
to make electrical measurements of E.M.F. becaus 
the method involves 

'�1) a combination of cells, galvanometer an, 
resistances 

(2) cells

(3) potential gradients

(4) a condition of no current flow through th
galvanometer

The two nearest harmonics of a tube closed at on 
end and open at other end are 220 Hz and 260 H., 
What is the fundamental freguency of the system 

(1) 40 Hz

v'(� 10 Hz 

(3) 20 Hz

(4) 30 Hz



J 16. f<f;m � �. L �. mT cfi1 � fcf,{013"1, � X 

� -q-i: IBIB 1J?-n � � 1'.f{ ciklclcf_ ��I � 
fcfi{Ul�\JJ �cl'Mf q{lci<l1 �. � L �cftq,� W-ra' 
��(�)1'.f{mlcfi1���t1 � 
7lil fctm 3Tfq cf;l1JT, e "B � 1'.f{, � mr fr.f.:s 6B 
m 11{ y � "i-1 fcl'i:lfc1q m \if@T i 1 -m, e � 11A 
wrr: 

117. f�<lPTlTT � � � iJc: il, � t° ?

118. fcfim cfiUI <½ft�� 3flqcl Tffu cf>T -3WTTti 3 cm% I
� � cfiUT'3f!AT 1:fTUl � "B 2 cm � 1:f{ mfil % m
�wr<l�WT<fi1-qfttrrcrr, ����mm

t- I � cfiUI cf>T &-llcldi:hlci (� if) i:

C 

116. A beam oflight from a source Lis incident normally
on a plane mirror fixed at a certain dlstance x from
the source. The beam is reflected back as a spot on a
scale placed just above the source L. When the mirror
is rotated thrnugh a small angle 0, the spot of the
light is found to move U1rough a distance yon the
scale. The angle e is given by:

117. The given electrical network is equivalent to: 

118. A particle executes linear simple harmonic motion
with an amplitude of3 cm. When the particle is at
2 cm from the mean position, the magnitude of its
velocity is equal to that of its acceleration. Then its
time period in seconds is:

(1) 

(2) 

(�) 

(+) 



C

l�f°0it?l�•R Q,%8c.l (,;fffiTT�) �-;,� 119
if{'Sfifu, ��if{���t, ��

Preeti reached the metro station and fmmd that the
escalator was not working. She walked up the
stationary escalator in tirne. t1. On ot.h� days,if she
remains stationary on the moving escalator, then
the escalator takes her up in time t2. The-time taken
by her to walk up on the moving escalator will be: 

t1 w:r:r-wmrt1 �m*� Q,%8c.l�wr�
i��"3"B111:�wc:ITT:, ti. �i:i���
im,����q_wi82.{111:�"3i'R�i:i
fu1:rr 7fl!T � � :

(1) tl -t2 

(2 )
t1 +t2

2

y 
_..!l!.L 
t2 -ti

(4) �
t2 +t1

120. � � ( =qfs:J, i-h I q'j) � � � an-cm-�� f I 

� �-� mfi:@ 3-la.-T, ;,n � WTT@ � �
i 3ffi � � � � � � % � i:rfur:, sfilm:
wJ al'..TTw2 ����c:ITT:uftf1 ���
�����Tf��tfcn, ��
3-le.-, � �r � i I m, � � i:i �-8;fll' � �
�m71T: 

(1)

(2)

1 2
(3)

4 
1 (<01 -w2 ) 

(4) I (w1 -w2)2

121. i7m � � fir� i:i T crrq iR 2 +TTR o-iTcro1"11 (fm
4 � 3=!11R ihl i 1 <fiPFI � �'l-TT Fc!..<Jm"'i � �
� � � � cfil � 3-lt-an:cfi � "WIT
(1) 11 RT
(2) 4 RT 
(3) 15 RT
(4) 9 RT

122. ��mcfil aw:rcr-! �1JUTTi-h"'B' %1 �

��i-hl-1411 � , p' � � t I m, ��if
f�q;.::ftmrft: 

�{B
(2) 

(3) 

(4)

E 
B 
B 

3p
3p
B 

(2) 
t1 +t2

2 

�
t2-t1

(4) _!l!L
t2 +t1

120. Two discs of same moment of inertia rotating about
their regular axis passing through centre and
perpendicular to the plane of disc ,-vith angular
veJocities w1 and {1>2: They are brought�tQ contact
face to face coinddit}g the axis of rotation. The
expressionfor loss of energy du.ring this process is :

(1)

(2)

(3)

(4)

I 2- (w1 -CJ.>2) 
8 

1 2- I (w1 +w2) 
2 
1 2- I (w1 -w2) 
4 

I(<.0-1-w2)2

121. A gas mixture consists of 2 moles of 02 and 4 moles
of Ar at temperature T. Neglecting all vibrational
modes, the total internal ener�fft:he system is
(1) 11 RT
(2) 4 RT
(3) 15RT
(4-) 9 RT

12)/ The bulk modulus of a spherical object is 'B'. If it is
< subjected to uniform pressure 'p', the fractional

decrease in r«dius is :

,/(1) 
p 
3B

(2) p

B
B 

(3) -
3p

(4:) 
3p
B 
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123. l � qft �mu%°� fut 'B 'm' �oll1111 cfiT �
cfiUT�%am��ftro����1R
WTT mif "TIT � 'B � % I <l'R � cfj(Tf '1 u I ch I{ l.f� 1R
'v' 'q@"B�cfi\fil't-al, �1R�cf@T��
(� qft om:) W11T : (T-n:ffi 1R cRTcf l)

(1) �
(2) T

(3) 

(4) 

mv2 

T+--
1 

mv2 

T--­
/ 

124. 1J:cfi � fllf(;'l�--i;{ cfiT � 3 kg o� � 40 cm
t I W 1R � mu � � "71{ % I *• W "im cfil
30N %°��"ffl'ql�tf1, fflfci"'5{ cfil�"ffiUT
�mm?

(1) 5m/s2

(2) 25 m/s2 

(3) 0.25 rad/s2 

(4) 25 rad/s2 

12s. ?:flT %-fu � m qij � � T{ am m fcnm 3:p;i-
1TTt:zr1 T{ � � % I � '9'flTT � % fcfi, � 1TTv:ri:T if 
scff��-a��-rf scff ���it� 

1R o'f,'@" � I -al, lf{ 1TT� cfiT 3i4c:t<l1icfi 'ITTTfT Bll'q'Tf : 

(1) 1.78

(2) 1.25
(3) 1.59

(4) 1.69

126. � � fcf; 1J:cfi miR 3th: ,zq; �8 �11 ·� � T{
3W<i a:RTI: mol % I � tl � - e t 3it{ � ( e + fle)
%1 * � � 'B 'd' � 1R W �1�-$,.,1"1.J � �

�3il��(�d���"€r�a:if�
%) � � "IB 3ll{ � � cf1l qft:01141 ("t:)
� % ill, Ae qf\- � twit :

(R:<nt �'�*l-5i1 cfif � mh= t.67><10-27 kg)

(1) 10-47 C

(2) 10-20 C

(3) 10-23 C

(4) 10-37 C

123. One end of string of length l is connected to a particle
of mass 'm' and theothe rendisconnccted laasmaU
peg on a smooth horizontal table. If the particle
mov es in circle with speed 'tl, the net fotct> on the
particle ( directed towards center) will be
(T represents the tension in the string)

(1) Zero

(2) T

124. A rope is wound around a hollow cylinder of mass
3 kg and radius 40 cm. \-vhat is the angular
acceleration of U1e cylinder if the rope is puUed with
a force of 30 N?

(1) 5 m/s2 

(2) 25 m/s2 

(3) 0.25 rnd/s2 

(4) 25 rad/s2 

125. Ymmg's double slitexperim:enti5 first performed in
air and then in a medium other than a:ir. Itis found
that sth brig ht fringe in the medium lies where 5th 
dark fringe lies in air. The refractive index of U1e
medium is nearly:

(1) 1.78

(2) 1.25

(3) 1.59

(4) 1.69

126. Suppose the charge of a proton and an electron differ
slightly. One of them is -e, the other 1s (e + fle). It
the net of electrostatic force ,rnd gravitational force
between two hydrogen atoms placed ata distanced
(muc h greater than atomic size) apart is zero, then
ae is of the order of [Given mass of hydrogen
mh= I.67x 10-27lgJ

(1) 10--17 C

(2) 10-2<i C

(3) 10-21 C

(4) 10- '7 C
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127. fcrf'i1?T1ro�cfil ��� A afRB ifil, 3lm9Ti�
1'Fl31jm{3WffiT{�q,{�"R;<TT�t1 ��
c:n1 � '.orfW'fioT �: K1 cf\l.fl K2 i I ell, � �
� �01 � 'c.llcicfidl ITT7TT

d 

(1) 2(Kl +K:i)

(2)
K1 +K2 

2

{3) 
3(K1 +K2)

2 

(4) K1 +l<i

128. � � �%m � � �v.f
3250x10-Wm %1 "ffi, 2536x10-10m i:l('t�v.f�
qu;;\",111 i;p-f;mmu��"'f63"B f.ttititftia ��<¾Ni�
�mm:

(h=4.14x 10-15eVs o\l.fl c=3x10Bms-l)
(1) zO.3x106ms-1

(2) ""6 x 105 ms-1
(3) ""0.6 x10° ms-1
(4) ""61 X103 UlS-l

129. ��cfil��= 22m/snl'.fll6.5m/st"I �GFTT

fcr:rt'm�anif��<filam-�mi1 ��
q;1 � mi cifqTTfT t, �1 3TTc{fu
400 Hz% I �. l'.qf.r � WT 340 m/s %-m, � cfiR
�"clrC'"fcfi� ��q'il � � ���
�?

(l) 448 Hz
(2) 350 Bz
(3) 36"1 Hz
(4) 411 Hz

130. l ��o>.TT1f-Pf>t�•ti°-qf-TTq'il��1 I km��
fua'i t" 3W: �-"i@""'B 50 m/s cfi1� � � %1
'iR g' cfiPlR 10 m/ s:i f� Well, (i) �G@" 11\l.fl
(ii) cTI7! � \n:171'>.rcfi � r,Rl ml Tf<TT ffl mTTT :

111 (i) lOf (\i) -8.75J 
(2) 15) - j {) f (ii) - 8.25 J
(3) (iJ J.2::> I (ii) -8.25J
(-!) (i)iO�>J (U)S.75]

�wo rods A and B of cllifereut mal'erials ar� welded 
together as shown in figure. Their thermal 
conductivities are K1 and K2. The thermal 
conductivity of the composite rod will be : 

(1) 2(K1 + K:i)

K1+K2
� 2

(3) 

128. The photoelectric threshold waveleugth of silver is
3250 x 10-10 m. The velocity of the electron ejected
from a silver surface by ultraviolet light of
wavelength 2536 X lO -10 m is
(Given h=4.14 x 10-15 eVs and c=3 x 10s n,s-1)

(1) ""0.3 x106 ms-1

(2) = 6x10S ms-1

(3) = 0.6x106 ms-1

(4) "" 61 X 10-"I ms-1

129. Two cars moving in opposite directions app.roach
each other with speed of 22 m/ s and 16.5 m/ s
respectively. The driver of the first car blows a hom
having a .frequency 400 Hz . The .frequency heard
by the driver of the second car is {velocity of sound
340 m/s]:
(1) 448 Hz
(2) 350 Hz
(3) 361 Hz
(4) 411 Hz

130. Consider a drop of rain water havingmass lg-falling
from a height of 1 km. It hits the ground with a
speed of 50 m/s. Take 'g' constant wilh a value
10 m/ s2 . The work done by the (i) gTavitational
force and the (ii) resistive force of air is:

(1) (i) 10 J (ii) -8.75 J

(2) (i) -10 J (ii) -8.25)

(3) (i) 1.25 J (ii) -8.25J
(4) (i) 100 J (ii) 8.75 J
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131. � � <jifwlcfil q,1 � 12 cm t' I � 500 K "9"t 131.

450c!T2�"cfiT��t1 <lfc::��cfil

A spherical black body with a radius of 12 cm 
radiates 450 watt power at SOOK If the radius weie 
halved and the temperature doubled, the power 
radiated in watt would be: 3flm (1/2) (f� tfTli cfi1 ctf :r,T cf){�� CT1 3ffif»fa

• cfil 'tJR c!T2 -q mm
(1) 1800
(2) 225
(3) 450
(4) 1000

(1) 
(2) 
(3) 
(4) 

1800 
225 
450 
1000 

132. � 3ffi"& -q � wffer� � � 7T<l f: 132. The diagrams below show regions of equipotentials.

•�•: v 

1
!!} 1:v wv 

6 

J)))• 
,�:

v 

1�1�• ,:
v 

�v I• J�)• 
10\' 30V 10V 30V 20V '10V 

30V l0V 30V 10V 30\1 2<lV 40V 

133. 

134. 

(a) (b) (c) (d) (a) (b) (c) (d)

� � � � � 'cfil' A it B <fcF � � A positive charge is moved from A to B in each 
� 4 ----..-:. �-,; diagram. 

i I m
l 

-�1ni;f,l:J "q, 9 q,1 A it s ocfi" 1:1 _,,,1 ..; =
(1) Maximum wor.k is required to move q in

(1) 3lTmi (b) it zj'� ffl <iiBT � I figure (b).
(2) � (c) it -3,f� cfil<f � � (2) Maximum work ,s required to ntove q in
(3) �ifi � � -q ·@:{Ff ffl cfiBI � I figw·e ( C) ·

(4) 3TITT9 (a) -q ·� ffl cfwTT mm I ('1) ln all the four cases the work done is the same. 

f1 � if q;a c:f,?.Rf -q � m it � � � ? 

(a) �N6cfi1��3ffi"3Ucfil��

(b) 

(c) 

(d) 

(1) 
(2) 

� � ma- f I
%mmcfil����t�1TTm
"9"tW1T��o@��i1
%m m 1TT WIT <iffi �, 6WT �l1HHl<l a-1>.TT
�. -zyn)i'ef,"R'cfll'TITTf�'cfi«TT%1

� �'q "cfiT i:rR 1l:cfi' (1) it � � cfi1
� � t fcfi° <:fill 3WTm' it an� '4T{ ool<TI
;;Ji � t I

(c) °Ql>.TT (d)
(b) tleTT (d)

(3) (a) oen (b)
(4) (b) o� (c)

�. � � it � GT �� � it meya­

a:n� ,r:r, (-;rfu) cf,71lT e1 oen e2�m, 2:m-afc1cfi ·fiR 
cfil1J'r B cfi11l'R m l-P·flcfi{OI � � m1Tf? 
(l) tan20 = tan201 - tan282
(2) cot28 = cot281 + cot202
(3) tan20 = tan201 + tan262 

(4) cot20 = cot261 - cot21l2

133. 

134. 

(4) Minimum work is required to move q in
figure (a).

W11icJ, of the following statements are correct? 
(a) Centre of mass of a body always comcides

with the centre of gravity of the body.
(b) 

(c) 

(d) 

(1) 
(2) 
(3) 
(4) 

Centre of mass ofa body is the point at whi.ch
the total gravitational torque on the body is
zero.
A couple on a body producE' both
u-anslational and rotationa I motion in a body.
Mechanical advantage greater than one
means that small effort can be used to lift a

, large load.
(c) and(d)
(b) and (d)
(a) and (b)
(b) and (c)

If 0 1 and 82 be the apparent angles of dip ol-1st>.rved 
in two vertical planes at right angles to earh other, 
then the true angle of dip 6 h given by : 
(1) tan28 = tan201 - tan202
(2) cot2e = cot4\ + cot:202
(3) tan26 = tan28 l + tan202
(4) cot2e = cot281 - c-ot'.!fl2
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135. cJ 'fol!l({f <R.cl ��,-, A' cf� 'B' * 8PW:n �: '8 ,._,
om ''l--.' %1 lm'l.f� $TT*1'f� � � WTR%1
��*��� 'B'�";flf��m!<m

'A' �";flf��mf"B � ¼ m7TI?

(1) 

(2) 

1 

9'l--. 

1 
>,. 

(3) 7>-.

(4) 8'l--.

136. f.19 ,mR.Jci f�H � t :

137. 

N2 + 3 H2 .= 2 NH3 K1
N2+02;=::!c 2 NO � 

Hz+ 2 02 ➔ H20 K3 

at B9 � � � � � (K) m7TI 

K 2 NH:,+½ 02 .= 2N0+3 H20

(J) 

(2) 

(3) 

(4) Ki Kg/K1

�ilf�{�cfiTHI�m?.TTflt<m"tf\ififfil:

(1) �

(2) �� c:R1'1U$�

(3) �i'-lsl«f"°1

(4) ftf;;m;r

138. 1: 1 on�� �-1,�i?lfi:fH'ffl * �� 1I� �
m�-af;;mfcn1:1%:

(1) �'1-ff\iIT 3TiflcR

(2) �

(3) qof8@1 ( st>.,1142Elllhl)

(4) f�&c:--11

135. Radioactive material 'A' has decay constant '8 >,.
and material 'B' has decay constant'),.'. Initiall)
they have same number of nuclei. After what time
the ratio of number of nuclei of material 'B' to tha•

1 
'A' will bee?

(1) 

(2) 

1 

9A 

1 
A 

1 

(3) 7A

(4) 8>-.

136. The equilibrium constants of the following are:

137. 

N
2+3 H2 .== 2 NH3 K1

N2+02�2NO � 

Hz+ 202 ➔ H20 Kg 

The equilibrium constant (K) of the rl:!action: 

(1) 

(2) 

(3) 

(4) 

The heating of phenyl-methyl ethers with HI 
produces. 

-flr benzene 
(2) ethyl chlorides
(3) iodobenzene
(4) phenol

138. The most suitable method of separation of 1 : 1
mixture of ortho and para - nitrophenols is: 

(1) Steam distillation

(2) Sublimation
(3) Ouomatography
(4) Crystallisation



(1) A: H3C-C=CH2I 
OH 

(2) A: H3C-C=CH2I 
S04 

(3) A: H3C-C=CH2
I 

OH 

(4) A: H3C-C-CH3II 

11� - sr'{l� 
(A) (8}

B: 

B: 

B: 

B: 

H3C-C-CH3II 
0 

H3C-C-CH3II 
0 

H3C-C=CH,
I �

S04 

H3C-C:::CH 

140. �B12QGl�-5 qi] ��it �9HHUf it;"� f.Tr, it

tlchT<fm3ff��%? 

141. 

(1) � tjfct1-11�s B!(8�o,

(2) q;1fcif<:1�lfH �\ffll

(3) ���alf�

(4) �alf�

?A H-C 

I IL 

�cfi'TIUPAC�t': 

(1) 3-fcfic1-2--irf�-5-�

(2) 3-fcfiit-z-l)f��-4-�

(3) s-lfi'if4ci�Eftl-2-t♦f-3-$

(4) s-�-4-�l<:ffil�cffi-2-t,T-s--w

142. f.Ff -i'r � m co� fff4 fu'cn i?

(1) �

(2) ii�1•i:1lf¢j1

(3) � 11 � �� ,;frq

(4) 9�1�WI�

C 

139. Predict the correct intermediate and pn'duct in the
following reaction

(1) A:

(2) A:

(3) A:

(4) A:

H3C-C=CH1I -
OH 

H3C-T=CH2 
504 

H3C-C=CH2I 
OH 

H3C-C-CH3II 
0 

B: 

B: 

B: 

B: 

H::iC-C-CH3 � 
II 

0 

H3C-C-GI3 
II 

0 

H3C-C = Oi2 
S04 

H3C-C::CH 

140. Which of the following reactions is appropriate for
converling aceramide to methanaminc t

(1.) Gabriels phthalimide synthesis 

(2) Carbylamine reaction

(3) Hoffmann hypobromamide reaction

(4) Stephens reaction

The fUPAC name of the compound

(1.) 3-keto-2-methylhex-5--enal

(2) 3-keto-2-methylhcx-4-enal

� 5-fornlylhex-2-,en-3-one

(4) 5-meU,yl-4-oxobex-2-en-5-aJ

�tich of Hle following i,; .a sink fnr CO ? 

� Pla11ts 

(2) Haemoglobin

(3) tvticro organisms present in tht• soil

(4) Ocer1ns·



C

143. f!ls<M1%<R-l·11-1 cfiT � � � � 1Ttf cfiB 1R 143. Ofthefollowing,whichistheproductformed
fi9 if�� m � �? cyclohexanone undergoes aldol conden•

followed by heating 7

144. R8 -q' "B ffi � � � ��r,ft �
fll-H-iNcll�<fi t?
(1) IF

;y 
XeP2

(2) BeC1
21 

XeF2
(3) TeI2, XeF2
(4) IBr2, XeF2

A, X, Y � Z cfi1 %i:llH4 
(J) A-��'-lTB, X-���n•:<si;l�:S, Y-��'-1T,,

Z-"Ql��I\Jfl-1

(2) A-fi,�$r. X-it� �. Y-�
3WR, z i;,��1"11-1

(3) A-fi:f�?R, X-'Q;�. Y-"Q;� �,
Z-tl if! <filiilfuJ i�:S

<4) A-'IZ�:fB, X-��,lB, Y-�?:-2-°{�B, 
z #11:ftcfi1aii-=1�1-1 

"? �hich of the following pd.irs of compoun 
isoelectronic and isostructural ? 
(l) IF3, XeF2

� Be02, XeF2 
(3) Tel2, XeF2

(4) 1BT2, XeF2

145. Consider the reactions:

X Cu/ , A [Ag(NH3)z] + 

(c H 0/57

2:

3 K I -oH � Silver mu:ror obst 
2 6 -oH �I ,y 

' 0 
II 

,. NH2-NR-C-NH2 
z 

Identify A, X, Y and Z 
(1) A-Ethanol, X-Acetaldehyde, Y-l3utar

Z-Hydrazone.
(2) A-Meth oxymethane, X-Ethanoic ,

Y-Aceta te ion, Z-hydrazine.
(3) A-Methoxymethane, X-Ethanol, Y-Eth,

acid, Z-Semicarbazide.
(4) A-Ethanal, X-Ethanol, Y-But-2-E

Z-Semicarbazone.



146.

147.

f.ri:;, -q � ch"R m �� � � t? 

OH 

(1) 

o,N◊No, 
�' 

N02 

OH 

(2) ¢
CH3

OH 

(3) 6
OH 

(4) ¢
N02 

6B?fficf;l��-m:���04 �� 
cfiT � "B � q,"! � t

(1) P2o5

(2) CO2
(3) S02

(4) N02

(1) CH3 -CH3 > CH2 = CH2 > CH3 -C=CH >
CHECH

(2) CH2 = CH 2 > CH3 -CH= CH2 > CH3 -C ;:;
CH>CH = CH

(3) CH= CH> CH3-C = CJ 1 > CH2=CI-l2 >
CH3-CH3

(4) CH=CH > CH
2 

= CH2 
> CH

3 - C=Cf I >
CH3-CH3

C 

146. Which one is the most acidic compound?

OH 

(1)

o,N◊No2 

�' 
N02 

OH 

(2) 

CH3

OH 

o 

147.

OH 

yr ¢ 
�02 

Name the gas that can readily decolourise acidified
KMn04 solution:

(1) P205 

(2) CO2
(3) S02

(4) N02

148. Which one .is the correct order of acidity?

,1, / G-I3-CH3 > CH2=CH2 > CH3-C--=CH >
� �:CH

s 1
) 

(2) CH2=CH2 > 0-13-CH =CH
2 

> CH3-C =
CH>CH= CH 

(3) CH= CH> CH3-C =CH > CH2=CH2 > 
CH3-0-f3 

(4) CHsCH > CH2 = CH2 > CH3 -C=CH >
CH3-CH

'1 



C 
149. Ag2�O4 � � fcR;rlR � Ag+ 3WR � � 149.

2.2x10-,1 mo! L -l t° I Ag2C2O4 qi"[� !J.0114-ici
Concentration ot the Ag .,. ions in a satura� 
solution of Ag2C2O

,. 
is 2.2 x 10-4 moJ L­

Solubility product of Ag2C2O4 is: 
t- :

(1) 5.3x10-U
(2) 2.42 X 10-8
(3) 2.66 x10-12
(4) 4.5 X 10-ll

1so. ����%mf.f9�i1ffl-m��i? 

(1) �� ffl � �� � -zyn m -1i4R<=lf<la
i,

(2) �tr qiTUf �4ftclfda t � �'!:T �
4Rclfdct tnm t I

(3) �tr <fiTUT 4Rclfctct � t� � �

-1i4Rc1Ma � 1 
(4) � ffl 1J.ci 3IT«i'!:T � -ey;n' �l qflc1fcta i 1

151. $8c+?T18i1 � fu-q -mt� t' :

(1) �8c+?T18tl1 �.:fl���
td'��-?l $8¾,T1 �chl��
�'!:T <'.RT� t I

(2) �8¾118� ';fiOll<"l-iCfi � � % 'q2lf
� i1 $<iicf?T1 � qi) m ffi 3Wi{'!:T
� � t I

(3) $<ii¾T1�til :i+�.Oll<"llcfi ��to2TT�
$<iicf?T18(;l � $8�T1 � qi) m ffi auai'!:T
iiAH·l� t I

(4) $cl¾T18(;l �1IJ1.-4a: � f411lih1 i o2TT
"1°Tf� -u $84?11 � chl m ffl �tel
��i,

152. R9 � "B" ffl W � "lfffif t°?
(1) t!1$�1"H ����� 2s ���

2pcfi�cfft-a;-ajil�mi,

(2) sT-� �� t' >-. = �. � m=cfiUT
mv 

qi"[ �, V = cfi1JT qi"[�� I

(3) 61Rr.iik(dl � % � L\E x M;a: ¾'Tl' I
(4) � � 1iffif � qi"[ � f2llf1-ki';! �

� �, � tll-lf�fa, <l1f'!:Tch'��
� cfiRUT t I

(1) 
(2) 

(3) 

(4) 

5.3 X 10-12
2.42X lQ-ll 
2.66 X lQ- l2 
4.5 x10-n 

150. With respect to the conformers of e�ane, which,
the following statements is true ?
(1) Both bond angles and bond length remair

sam.e
(2) l3ond angle remains same but bond lengt

changes
(3) Bond angle changes but bond length remair

same
(4) Both bond ,mgle and bond length change

� Thecorrect statement regarding electrophile is: 
(1) Electrophile can be either neutral or positive!,

charged species and can form a bond b
accepting a pair of electrons from
micleophile
Bectrophile is a negatively charged specie
and can form a bond by accepting a pair c
electrons from a nucleophile

,.,_@� Electrophile is a negatively charged specie 
� and can fonn a bond by accepting a pair o 

electrons from another electrophile 
(4) Electrophjles are generally neutral specie

and can form a bond by accepting a pair c
electrons from a nucleophile

152. Which one is theWTong statement 7
(1) 1 The energy of 2s orbital is less than the energ 

of 2p orbital in case of Hydrogen like atom 

(2) de-Brogbe' s wave1engt:1;1 is given by t,. = �
mu

where 111 ""mass of the particle, 1• = grou
velocity of the parb.cle.

(3) The uncertainty principle is �Ex .. H�¼ ..
( 4) Half filleu and fully filled orbitals have gtcal.f

stability due to greater exchange energ:
greater symmehy and more balance
arrangement.



153. Co3+ ����� !$if� 3lcl�flf:lOI cttrR:v:fcfiT
�s3TI�sf>t:f%:

154. 

(1) [ Co (NH3)6]3+, [ Co (enh]3+, [ Co (}½0)6]3+
(2) [ Co ( enhP +, [ Co (NH�6]3 +, [ Co (H2O)J3 +
(3) [ Co (�0)6]3+, [ Co (enh]3+, [Co (Nlis)6]3+ 

(4) [Co (H2O)J3+, [Co(NH3)613+, [Co (enh)3+
�-I � 3HH�(."1lii11 � cfiT % �-II -q 
,;,uPrn1 "B P@Rcfil� �%1 

�-• �-n 

(a) XX' (i) T-3Ticfffi
,(b) XX3 (ii ) q=qcfi)uftzt f�fliil 

(iii) Usirl(c) XX5
' (d) ·XX7 (iv) qTf M��

(v) =q tl"'h(1 ct1 l zt
�: 

(a) (b) (c) (d)
(1) (iv) (iii) (ii) (i)
(2) (iii) (iv) (i) (ii)
(3) (iii) (i) (iv) (ii)
(4) (v) (iv) (iii) (ii)

155. fql�n;;ii � amitr m 120· t- =
(1) BC13
(2) PH3
(3) CJF3
(4) NC13

156. Ri:::f � ctl' � aJl«fT cfiT � s3lf � sf>t:f t" :

(I) 

(1) II< 1 < Ill
(2) II <ill< f
(3) ill< I< D
(4) ill<D<l

C 
Corr<'.'ct increasing order for the ,.,•avelengths of absorption in the visible region for the complexes of - Co3+ is:

154. 

(1) [ Co (NH�613+, [ Co (en)�3+, [ Co (H20)<J3+
(2) [ Co (en)�3+, [ C:o (NH3)613+, [ Co (H2O)<J3+
(3) [ Co (H20)6)3+, [ Co (cn)JJ3+, [ Co (NH3)J3+
( 4) [ Co (r½O)613+, [ Co (NH�i]3+, [ Co ( en)Jlh
Match the interhalogen compounds of column J with the geometry in column II and assign the correct _ code. 
(a) 
(b) 
(c) 
(d) 

Code: 
(1) 

Column I 
XX' (i) 
xx�� 

XX5 .. ) 
.XX7 (iv) 

(v) 
(a) (b} (c)
(iv) (iii) (ii)

Colwnnfl 
T-shape
Pentagonal bipyramidal 
Linear 
Square- pyramidal 
Tetrahedral 
(d) 
(i) 

� (iii) (iv) (i) (ii)
(3) (iii) (i) (iv) (ii)
(4) (v) (iv) (iii) (ii)

15�: The species, having bond angles �1
120° is : 

� B03 _.c_.f 
(2) PH3 ·<\3\ (3) CIF3 c..r 
(4) N03

156
.;; The correct increasing order of basic strength for / the following compounds is : 

(I) 
(1) 11 < r < m
(2) TI < Ill < 1

�ID<T<Il 
(4) ffi<Il<l



C 

157. f;rc,if�mm��';f"ITT%?

(1) 

(2) 

(3) 

(4) 

w-� � q,1 "3"&{0T ffii;q1llnfla1 � �
i I 

�fcf;-m 'l.ft3lf�cnlmuT-;:imcfi«ll%1 

3ff� � fllR.fcH-?-11 if� tf,1 � if 
� ft:eRfq; q;J l'.fR qf<ctRfo 6IBr t I 

�:I&ffi: � «-lliqHcfi �c'fil� 
�ti 

158. � im q;y � � 1:ITTl -?f 2.s atm WR� WI �
� � 3W«R 2.50 L � � � 4.50 L
w-ti"lruR��%1 7fficf,l'��if�
AU,� -?f wn:

(1) ;505 J

(2) 113625 J

(3) -500 J

(4) -505 J

159. �20��1:[B{if CO2(g)400K� 0.4 atm ��
ti'� -mf� -?f SrO (SrO � 3W«R <liT � llR) i I
1:ITTl q;J 3W«R � � � NR:1� cfill' � �
t I � 1:ITTl if CO2 � � cfiT l'.fR �-wm clil 1:ITTl
q;y �· 3W«R wn

(R<TT lf<:fl SrCO3(s) .= SrO(s) + CO2(g),
Kp=1 .. 6atm)

(1) 2�

(2) 5�

(3) 10�

(4) 4�

160. f;r9 if� ffl m � � ".l"ITT % ?

(1) fcl$ct1 cfr(OI � cliT 3ff� � <fl@ f I

{2) �llRcfmR�if��«f\qil� 
TI9m°tl 

(3) 61IEl<:1<34l1 �<fil�if �"&rn�%1

(4) �miR��f'fif,Ji;.,l-5H���
q;y �� if %1

Which one of the following statements is not 
correct? 

(1) 

� 

(3) 

(4) 

Coenzymes increase the catalytic activity of 
enzyme. 

Catalyst does not initiate any reaction. 

The value of equilibrium constant is changed 
in the presence of a catalyst in the reaction at 
equilibrium. 

Enzymes catalyse mainly bio-chem:ical 
reactions. 

158. A gas is allowed to expand in a well insulated
container against a constant external pressure of
2.5 atm from an initial voluJll.e of 2.50 L to a final
volwne of�. The change in internal energy � U
of the gas in joules will be : D \J .!- J 1,.. ..-\J'r 

(1) +505J

(2) 11 36. 25 J

(3) -500 J

(4) -505 J

159. A 20 litre- e:ontainer at 400 K contains COi(g) at
pressure 0.4 ab:n and an excess of SrO (neglect the
volume ofsol.i.d SrO). The volume of the container is
uow decreased by moving the movable piston fitted
in the container. The maximum volun1e of the
container,. when pressure of  CO2 attains its
maximum value, will be;

( Given that : SrCO3(s) r= SrO(s) + CO2(g),
Kp=l.6atm)

(1) 2 litre

(2) 5litre

(3) 10 litre

(4) 4 litre

Which of the following statements is not correct? 

c.(lV Denaturation makes the proteins more active. 

(2) Insulin maintains sugar level in the blood of
a human body.

(3) Ovalbumin is a simple food reserve in egg­
white.

(4) mood proteins thrombin and fibri.nogen are
involved in. blood clotting.



C 

161. V% cfitc:<tf-lcfi a:if� X
2 
+ Y 

2 
➔ 2 XY ct! fstilllfclf�

��TT{ t:

(i) X2➔ X + X (�)

(ii) X+Y2.=XY+Y (mtfi)

(iii) X+Y ➔XY (�)

a:if�cf>1"fllrn (�) cfiTRmrft:

(1) 1.5
(2) 1

(3) 2

(4) 0

161. Mechanism of a hypothetical
X2+ Y2➔ 2 XY is given below:

(i) X2➔ X + X (fast)

(ii) X + Y 
2 .= XY + Y (slow)

(iii) X + Y ➔ XY (fast)
The overall order of the reaction will be:

(1) 1.5

(2) 1

(3) 2

(4) 0

re<1ction 

162. R14' Tf it <fil1 it 3lflR � -?f � � -?f S- S 162. Ln which pair of ions both the species contain 5- S
. �, ;mil'� � · bond?

(1) 

(2) 

(3) 

(4) 

(1) 

(2) 
(3) 
(4) 

02- 2-54 o , S207 

5 02- s 
2-2 7 , 203 

2- 2-5406 , S203 

o'"I- s 02-S2 7 , 2 8 

N2,02 
CO, NO 
02, No+ 

cN-,co 

164. cR1�1(1-i1t�f�1Ta "<Wn ma:r@ cn1 Pi� � � -?f cf>Tlf
cfiUIT t

(1) �fu��cfi

(2) in�ttm'.l

(3) lfirom

(4) �,ilq1�'<flcfi

165. � Tf � � � ns2_ �ciicf?T-fi � � qft
arna;rt@T � cfiT{Uf mm t

(1) Sn4 + -3-1q�f�a mar t � Pb4 + a:iTcffilq;a

(2) Sn2 + � moT i � Pb-l+ ,34Tcf+:flq;a

(3) Sn2+ o:tT¾lq;a mcrr %� PbH �

(4) Sn2+ � Pb�+ � m �Tcffl1$o � �
�f

(1) s.i0t,s20�-

(2) S20�-, 520�-

(3) s,.ot,s2ot

(4) 02- s 02-S2 7 , 2 R 

161/ Which one of the following pairs of species hav<' the 
.,,...,,.,.- same bond o:rder? 

(1) N2,02

(2) CO,NO

(3) 02,No+ 

� 
CN-,co 

Mixture of chlorox-ylenol and terpineol acts r1s: 

(1) antibiotic

(2) analgesic

antiseptic

(4) antipyretic

165. lt is because of inability of ns2 clectrons of the valence
shell to participate in bonding U,at

P) SnH is reducing while PbH is oxidising

(2) Sn2+ is reducing while PhH is oxidi,mg

(3) Sn2 
t- is oxidising while Pb, 1 is r<!ducir,g 

(-!) Sn2+ and l'bH are bvth uxidising and 
reducing 



C 

166. �cli' m'�?:fl � @it All== 35.5 kJ mol - 1 tiin
'15=83.6 JK-1 moJ-1 %1 3lf,� � � r-n;
�: Wffi@ i-?

(1) T > 298 K

(?.) T < 425 K

(3) 1 > 425K

167. � tfj fcttrR cf>'! tj'kkldl <m � � � f. !TI
���(K1)m11T:

(3) aw..n

(4) TTfTll

168. t-R * � m -arq "TT f.l� i ?

(1) � ,;;rfuwa

(2) �

(3) �

(4) � f"l?r

 

.!:§.V For a given react ion, 61 I= 35.5 kj mol -1 and 
�S = 83.6 JK-1 mol -1. The reaction is spontaneous 
at : (Asc;ume that AH and AS do not vary with 
temperature) 

(1) T> 298 K

(:?) T < 425 K

(3) T > 425 K

fi ;iUtemperatures 

. lf mola_Lily .£f_thc dilute solution is doubled, the value 
uf molal depression constant(Kf) wil1 be: 

� unchanged 

(2) doubled

(3) halved

(4) tripled

� Which of the following is dependent on 
temperature? 

(1) Weightpercentage

(2) Molali ly

(3) Molarity

✓ Mole fraction

169. P.ick out the correct statement with respect to
[Mn(CN)613-:

(1) It is dsp� hybridised and square planar

('.!) It is c;p\f? hybridisPd and octahedral 

('\} It ic; sp3ct?. hybridised and tetrahedral 

(4) It is d2.,p3 hybndised and octahedral



c1) � � � �1:R]m � �� t
� � � � � 3WliR ffi'qlf �

imt1 

(2) FeOa.98 if 1T1Rl$fch4'if�?J � � � % I

(3) fstiR�I �����'Ef2ffi%1

(4) NaO(s) �m, fBf8cfi1 61,s;illi;-iofi, �
�,�ey.il��t,

L71. HgCl2 � 12 � 1'h11- 3-WR � � l1 'q1ffi "9"{ 

�cf@l"-�4Ml'11�i:

(1)

(2)

(3)

(4)

Hg21:z, r-

Hgl2, 13

Hg-Ii, r-

2- -
Hgl4 , l'.\

112. �� � � F1&:f-i�o111 cN- 3TI<A'�R�mm
%1 �cfi)�if�:��WU�\lffifft:

(1) Zn��

(2) i:,16111(11 qfoscfi(Ul

(3) �

(4) � 9R&f-i{OI

73. � CoC13.6 NH
s, 

CoCI3.5 Nl--Is, CoClg.4 NH3 cfi)
3Tif� if AgN03 �tTTl!lnfi<TTcRc!R'tR <-li�fchl!IA?l
AgCl ffl cfi1 m'T sli'lf Wlrn: % :

(1) 2AgCJ,3 AgCl, 1 AgCl

(2) 1 AgO, 3 AgCJ, 2 AgCI

(3) 3 AgCl, J AgO, 2 AgCl

(4) 3 AgCl, 2 AgCI, 1 AgCI

C 

� Which is theincorrect statement?

(1) Frenkel defect is favoured in those ionic:
compounds in which sizes of cation a1,d
anions are almost equal

._,,-f2Y Fe00_98 has non stoichiometric metal
deficiency defect. 

(3) Density decreases in case of crystals with
Schottky's defect

(4) NaCl(s) is insulator, silicon is semiconductor, 
silver is conductor, quartz js piezo electric
crystal 

.J_ZY. HgCl2 and I2 botli when dissolved in ·water
containing r ions the~pair 0£ species formed is: 

(1) Hgi2,r-

Hgl2, 13

(3) Hg½,I-

(4) 2- G"Hgl4 , 3 

Extraction of gold and silver involves leaching with
CN- ion. Silver is later recovered by:

(1) displacement with Zn

u2}/ liquation

(3) distillation

(4) zone refining

The correct order of the stoichiornetries of AgCI
f ormed .when AgN03 in excess is treated
with the' complexes: Co03.6 NH3, CoC13.5 NH3,
CoCl3.4 NH3 respectively is : 

(1) 2 AgCl, 3 AgCl, 1 AgO

(2) 1 AgCl, 3 AgCI, 2 AgCl

(3) 3 AgCl, 1 AgCl, 2 AgCI

(4) 3AgC1, 2 AgCI, J AgCl



C 174. A cli1 q�illf➔a am�� ]-<liTPf� � :
A 

(4) a Br <I'll fu'I_ 1'm'U'R 31f\lfll;m

175. fun:TT�<Wf��cfi"T�i:(1) i:filcslldJ�11(2) ef�(3) �*�(4) �
116. Qf cR.1T llii -q= �, q\{01 � <fiT 1Rffi a:ir� 6R clilcfiRUT t:(1) 4f � 5d «ro cfi't � amrql"{l lt(2) Qrcg1Tll-s1· c:ri1 �1��">1QfcR.c1 �(3) QFcR.1Tll6 �(4) 5f,6dcfm7s«m<fil�� 
177. � a� Z=114 clil � "ITT if olllclli'fil{ s3Tf i1 �f.:r9 i{ � � ffiR/q"Tf am �c11ct?1f-1cfi � "B�'i:IBmTJT?(1) 11��1'3!1 -qftqr{, [Rn] Sf14 6d10 7s2 7p6(2) � 1ffecrr<, [Rn] 5!14 6dl0 7s2 7p5(3) � 'tfficm:, [Rn] 5f14 6dl0 7s2 7p2

(4) 6l1cRfi,,11 i:rftcm, [Rn] 5f14 6d10 7s2 7p-i

y? Identify A and predict the type of reactionOCH3 
6B, NaNH, A

OGI3 
(1) 6 and cine substitution ,eaction 

OCH3 
j2Y 6 and substitution reaction NH2

00i3 
(3) oNH, and elhnination addition 

reaction 
(4) 6

0CH3Br and cine substitution reaction 
J4'5. An example of a sigma bonded organometallic compound is : (1) Coba1tocene{2) Ruthenocene � Grignard' s reagent (4) Ferrocene
E6< The reason for greater range of oxidation states in actinoids is attributed to (1) 4f and 5d levels being dose in energies

4 the radioactive nature of actinoids (3) actinoid contraction{4) 5£, 6d and 7s levels having comparable energies 
177. The element Z=114 has been discovered recently.It will belong to which of the following family/ groupand e.lectronic configuration?

(1) Nitrogen family, [Rn] 5£14 6d10 '7s2 7p6(2) Halogen family, [Rn} 5f14 6d10 7s2 7p5(3) Carbon family, [Rn] 5£14 6d10 7s2 7p2 (4) Oxygen family, (Rn] sfl.4 6d10 7s4 7p4 



178. 

179. 

���cfi1flq;y�31f�WJ10-2sec-l ll
ZOg31f��5gcl"cfi"-'?Aiffcf;o-TIWFr�? 
(J) 693.0 sec
(2) 238.6 sec
(3) 138.6 sec
(4) 346.5 sec

f.ri:;f if 'Bcf.R'B e.m tng 3WR/ <m � 11foliflcidl 
�i�����fc@7.r,cf,1�� 

if��%? 
(1) Li

(2) Na
(3) K
(4) Rb

178. 

C 

A first order reaction has a specific re,1 tio;i rah• of
10-2sec-1. How m1tch time will itt3kefr•r20 g of
the reactant to reduce to 5 g 7 
(1) 693.0 sec
(2) 2...�.6 sec
(3) 138.6 sec
(4) 346.5 sec

Ionic mobility of which of the following aLl...:I• metal

ions is lowest when aqu�ous soluti0n of thciJ' salts 
are put under an electric field ? 
(1) Ll
(2) Na
(3) K

j!)/Rb 

180. ���m-1:
Znl7.nSO4 (0.01 M)jj CuS04 (1.0 M)jCu, W �
� q;y emf Ei l I � ZnS04 <fil � cITT 1.0 M 'ijcfi"
4ftc!Rfct o� CuS04 Cfil �cffl 0.01 M <'ftl, qft:cJRfa
��lmemfif�E2t1 f.1.:;rif�cfi'R�

� 
In the electrochemical cell:
Zn!ZnSO4 (0.01 M)JI Ct1SO4 {1 0 M)ICu, lhe emf of 
this Daniel cell is E1 \'\'hen the con,·entration of 
ZnSO4 is changed to 1 .0 M and that of CuSO4 
changed to 0 .01 M, the em£ cha ngl.!"- lO E2. From the 
followings, which one is the rel.,honshtp hetwt!en 

P v_q= E., if �"I%? (fu..n lf1.TI', RT =0.059)'1 � F 
(1) Ei = 0 :;e E1 
� £i =E2 

� Ei <E2 

{4) E1 > E2 

. RT E1 and F'2? (GLven,- =0.059)
F 

(1) E:i=0:t:E1
(2) Ei = E2

.._fa) E1 < E2 

(4) El
> E2
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